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1(0) (1)
Variable None Intercept Trend and None Intercept Trend and
Intercept Intercept

CFBT 0.716237 -1.547173 -3.014290 -5.246859 -5.335164%*% | -5250315%+*
CG - 1.332128 -1.051054 -3.711667** | -4.906612%** | -5 230896%** | -5129549%**
CITAX -0.180063 -1.901592 -2.119913 ~7.026510%%% | -6.874575%*%* | -6.929527**=
CTOTAL 2482143 -1.330002 -1.784263 -4.523280%*% | -5470651%*% | -5458141%**
CTRANSP 2039243 -1.233935 -3.601934%% | -7.516539%** | -8.393383*%** | -§.349178*%**
DGDP 2.645432 -1,289020 -1.408579 -3.302304%%* | -3 832422*** | -3 761019**
DTAX 0.342403 -1.934390 -1.659720 -5.143673%** [ -5.106964%*% | -5.627157***
G 0.332785 -2.556780% [ -3.794796%* | -B.029271%** | -B. (097845 ** | -B(72542%**
GDP 1.597246 -2.090708 -1.601698 -4 225T48*** | -4,638296%** | -4983342%**
GNDB -2.539418%* | -2.536076 -3.422108* ~5.013572%%*% | -5 135463%**% | -5505337%%*
GNFB -1.956446%* | -1.951202 -2,951270 -4 54B127%%* | -4 468921%%% | -4.375529%%*
GREV -0.089446 -3.609203** | -3.588608%* | -5.662777*** | ~5.573675%** | -5.441924%**
IG -0.252845 -2.814124* -2.609955 -7.993180%** | -7 B61R70*** -8_054239***
™ 1.496608 -1.116041 -1.842522 ~4.553218***% | -4 931985%** | -4.821480***
IMLR -0.63047¢ -1,795006 -1.840747 -2 711981 %% | -2 690547* -2.835814
IMTAX -0.717994 -0.588078 -1.793617 -3.599017*%*% | -3,572336** -3.523168*
ITAX 0.446682 -1.982072 -1.723739 -6.150113%** | -6.145964*** | -6.364961%%*
NBUD -2,183102%* | -2.320127 -2.724919 -5.339627*** | -5259548*%** | -5 162899**+*
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NDG -0.962436 -1.863321 -2,681397 -TAGE246%** | -7.350114%%* | -7,216323%%+
OGREV 0.316926 ~2.246079 -2.962336 -4 511314%%* | -4.505414%%% | -4.393595%**
OITAX -0.152614 -2.830963% | -2.927907 -7.018034%%* | -6.878000%** | ~6.824686%**
PF ~0.526656 -1.098152 -1.567743 4.452225%%* | -4369629%** | 4.204746%*
PI 1.688808 -1.580321 -1.832078 -4 436613%%* | ~4.969658%** | -5.136155
PITAX -0.281519 -2.311327 -2.369444 -7.015540*** | -6.930981 -6.985434
SSTAX 0389044 | -2.003895 -1.817580 | -5.544424%%% | -5.527653%** | -5.616382%**
SSTAXBTP 0.158771 -1.800703 -0.025413 -5.563665 ke | -5521783%%% | -6.673298
SSTAXFL 1.136573 -1.259638 -2.622813 -6.387192%** | -6.945931*** | -6.869371***
TAX -0.055740 -3.486733** | -3.430693* -5.210709%** | -5126262%** | -4.992551%**
VAT 0.011499 -2.161633 -2.063429 -5.242500% %+ | -5 190770%%% | -5 227802%*+*
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M3197 6.2 HANI5ANH cointegration test YaI31FBvBdgLanalnsing

A1aRANATOUNE Y cointegrating vector diniunislEhavasigng
26 observations from 2537Q1 to 2543Q2. Order of VAR = 4,

List of variables included in the cointegrating vector: G~ GDP GREV ~ DGDP

List of eigenvalues in descending order: .68531 39374 33431 13757

Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95%, Critical Value 90% Critical Value

=0 r=1 30.0603 23.9200 21.5800
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=1 =2 13,0115 17.6800 15.570G
<=2 =3 10,5803 11.0300 9.2800
r<=3 =4 3.8482 4.1600 3.0400

Cointegration LR test based on trace of the stochastic matrix-

Nuil Alternative Statistie 95% Critical Value  90% Ciritical Value
r=0 =1 57.5003 39.8100 36.6900
r<=1 =2 27.4400 24,0560 21.4600
<=2 =3 14.4285' 12.3600 10,2500
<=3 =4 3.8482 4.1600 3.0400

N1WINA : Use the above tables to determine r (the number of cointegrating vectors)

U VIDMTATHIT

Estimated cointegrating vectors, cocfficients normalized in parenthesis.

Variable Vector 1 Vector 2 Vector 3
G -.2261E-4 -.1441E4 -.1605E-4
( -1.0000) ( -1.0000) ( -1.0000)
GDP J680E-5 .5801E-5 .6340E-5
( 074304) { 40250) { .39490)
GREV ABBTE-5 A251E-5 -.1544E-4
( 21611) ( .086814) { -.9614%9
DGDP 017355 -.034831 - 010958
( 767.4385) ( -2416.6) (-682.5485)

n : MTAUIN

mM99R 6.3 WANSANH error correction mechanism Yoam3liaveigmanainsne

ECM for dependent variable dG estimated by OLS based on cointegrating VAR(4)

Regressor Coefficient T-Ratio Probability
dGgi1 A8116 1.3666 .199
dGDP1 -.34608 -1.6776 122
dGREV1 55249 -2.2465 046
dDGDP1 -1556.7 -.62318 546
VdGZ 33582 91085 382
dGDP2 -.12709 -.95242 361
dGREV2 -13205 -.84293 A7
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dDGDP2 187.8394 076456 940
dG3 043683 17538 .864
dGDP3 013899 088410 931
dGREV3 -.56963 -2.9514 013
dDGDP3 -4677.5 -2.3716 037
ecml1(-1) : -.30438 -2.7572 . 019
ecm2(-1) -40386 -2.1720 053
ecm3(-1) -.068429 -.33042 747

List of additional temporary variables created:

4G = G-G(-1) dG1 = G(-1)-G(-2)

dGDP} = GDP(-1}-GDP(-2) dGREV1 = GREV(-1>GREV(-2)

dDGDP1 = DGDP(-1}-DGDP{-2) dG2 = G(2)}-G(-3)

d(GDP2 = GDP(-2}-GDP(-3) dGREV2 = GREV(-2}GREV(-3)

dDGDP2 = DGDP(-2)-DGDP(-3} dG3 = G(3)YG(4)

dGDP3 = GDP(-3}-GDP(-4) dGREV3 = GREV(-3)-GREV(-4)

dDGDP3 = DGDP(3)}-DGDP{-4)

ecm] = 1.0000*%G-.074304%GDP-.2161 I¥GREV-767.4404¥DGDP
ecm? = 1.0000*G-.40250%*GDP-.086812*GREV+2416.6¥*DGDP
ecm3 = 1.0000*(G-.39490*GDP+.96149*GREV+682.5467*DGDP

37 - VINATAUIN

fA1aBAd19q vedans ECM veanmsligievesiguna

R-Squared .89905 R-Bar-Squared 77057
S.E. of Regression' 12900.4 F-stat. F(14, 11) 6.9974[.001]
Mean of Dependent Variable ' 2567.5 S8.D. of Dependent Variable 269324
Residual Sum of Squares 1.83E+09 Equation Log-likelihood -271.8001
Akaike Info, Criterion ~286.8001 Schwarz Bayesian Criterion -296.2358
DW-statistic 1.5814 System Log-likelibood -863.7488
Diagnostic Test

Test Statistics LM Version F Version
A:Serial Correlation CHSQ( 4)= 13.4233[.009] F( 4, = 1.8679[.221]
B:Functional Form CHSQ( 1)= .24466[.621] F( 1, 10)= .094993[.764]
C:Normality CHSQ( 2y 3.1945[.202] Not applicable
D:Heteroscedasticity CHSQ( 1)= .83340[.361] F( 1, 24)= .79477[.382]

A:Lagrange multiplier test of residual serial correlation  B:Raresey’s RESET test using the square of the fitted values

C:Based on a test of skewness and kurtosis of residuals  D:Based on the regression of squared residuals on squared fitted values

Aut: MpAITRIUI
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oumsse lantimeas wesiguafizluuvaunsiildlunsdnufegtinni var
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M131371 6.4 WAN13ANE cointegration test YOAN MRS N InTsna

ADANATIUMG 1Y cointegrating vector dndu ¥ artimane
22 observations from 2538Q1 to 2543Q2. Order of VAR =8,
List of variables included in the cointegrating vector: DTAX  GDP
List of eigenvalues in descending order: 80522 035167
Cointegration LR iest based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Value  90% Critical Value
r=0 =1 : 35,9889 14,8800 12.9800
=1 =2 78761 8.0700 6.5000

. Coinfegration LR test based on trace of the stochastic matrix

Null Alternative Statistic 95% Critical Value  90% Critical Value
r=0 =1 36.7765 17.8600 15,7500
<=1 >=2 78761 8.0700 ~ 6.5000

HULHE) : Use the above tables to determine r (the number of cointegrating vectors)

fiur : Mo

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1
DTAX JT738E4
{ -1.0000)
Goe -.2175E-5
( .028107)

fn : inmsduaw
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$151911 6.5 HANIIANYI error correction mechanism Y8dMmEmMsnzanslasng

ECM for dependent variable dDTAX estimated by OLS based on cointegrating VAR(8)

Regressor Coefficient T-Ratio . Probability
Intercept 51318.6 ' 2.7092 035
dDTAX1 1.3717 2.4206 052
dGDr1 =-33059 -2.1676 073
dDTAX2 1.2403 1.4833 189
dGDP2 -.14893 11127 308
dDTAX3 1.2993 1.7997 122
dGDP3 -.20090 -1.8871 108
dDTAX4 2.6527 2.4108 053
dGDP4 -27287 -1.6415 152
dDTAXS5 1.2379 1.3386 229
JdGDP3 093832 1.2009 275
dDTAXS6 1.5126 2.6547 038
dGDP6 11709 2.0597 085
dDTAX7 75463 1.2210 268
dGDP7 074730 1.1484 295
ecml(-1) -1.5947 -3.0918 -.021
List of additional temporary variables created:
dDTAX = DTAX-DTAX(-1) dBTAX! = DTAX(-1)-DTAX(-2)
d¢GDP1 = GDP(-1)-GDP(-2) dDTAX2 = DTAX(-2}-DTAX(-3)
dGDP2 = GDP(-2)-GDP(-3) dDTAX3 = DTAX(-3)}-DTAX(-4)
dGDP3 ~ GDP(-3)}-GDP(-4) dDTAX4 = DTAX(-4)}-DTAX(-5)
dGDP4 = GDP(-4)-GDE(-5) dDTAXS = DTAX(-5)- DTAX(-6)
4GDPS = GDP(-5)}-GDP(-6) dDTAX6 = DTAX(-6)}- DTAX(-T)
dGDP6 = GDP(-6)-GDB(-7) | dDTAX7 - DTAX(-7} DTAX(-8)

dGDP7 = GDI{-7)-GDP(-8)
ecml = 1.OOOO*DTAX-028107*GDP
i : MIPATAIN

A1adnA19q YBaHMs ECM veana ldmiinmansa

R-Squared 98616 " R-Bar-Squared .95158
S.E. of Regression 6665.4 Fstat. F(15, 6) 28.5115[.000]
Mean of Dependent Variable 2268.6 S.D. of Dependent Variable 30290.1
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Residual Sum of Squares 2.67EH8 Equation Log-likelihood -210.6278
Akaike Info. Criterion -226.6278 Schwarz Bayesian Criterion -235.3561
DW-statistic 2.4442 System Log-likelihood ~440.0512
Diagnostic Fest
Test Statistics 1M Version F Version

A: Serial Correlation CHSQ( 4)= 13.6585[.008] F( 4, 2= .81871[.615]
B: Functional Form CHSQ( 1)}= 7.6821[.006] F( 1, 5)= 2.6827[.162]
C: Normality CHSQ( 2)= .98623L611] Not applicable

D: Heteroscedasticity CHSQ{ 1)= 3.6565[.056] F( 1, 20)= 3,9868[.060]

A:Lagrange maltiplier test of residual serial correlatic.)n
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values

1 : INNITAIUIN

HAPITAAMITNATT ATINNATINUIAINAS max test UAY trace test IWSIUIU
. . LI & 4 o L] 9 s hd
cointegrating vector WALl diehmsilszyamamisaaduiuissozoaudanud
- g ar a & a4 - 4 ay U A &
wiaaninentidulszdniussdulsnfnnastanasunellsemaliosauiinioaning
pndesfntimSasminaiiuuan Tagnansenuwesmsalanulandadusivaasumelu
¥ 3 3 . a2 . .
dsemenilesdumiutiunitamioezyilfe ldmEnasufiudy 0.0281 Hwus deuiRsi
s s 3 é 3 ¥ -y ey [-23 =
aswaumsasUsudiluszesfuswansluaseh 65 Tasmasavesdaudsoasyluan
@ o n’/’ Y 18 o Y- 1 o ] - o a
asmstlfudaluszezdunaieda iiblsdigmanda edwlsnawdinamsilumsliuéd
] 1] alr L2 [ s Rﬁé as ot
o igaasnmluszazendndhisdignuadadnavesmslivdirnnsoglums
o
UBNVINIAADAVBITUAISITY M1 R %50 adjusted R somsdenamamsnlumseiuesuss
W [] T [
aun1s'léa sauTianauean1Tl simulation AIBAININA 6.2 Nlanuamawmasisifoeas

4.8 UaA1 Theil’s inequality coefficient fAumny 0.0265
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aumssie landifuldyanasssuaess unalipluvvaunsimansaudegluuy

o ret @ to o ¥ = . . & e < PV ¢
I VAR Model 1““1[“11'1&1[1’!@1!1ﬂﬁ1'lﬂﬂﬂ'lﬂﬂ'ﬂtlu colntegrating vector ‘FIUAGNTIANH AU

5197 6.6 HAN15ANMN cointegration test YoamBRUlAyAnasssN N lRTING

AMaSANAABUHIS1HIH cointegrating vector NUFUMTEIH AYARASITHAY
21 observations from 2538Q2 to 2543Q2. Order of VAR = 9. _
List of variables included in the cointegrating vector: PITAX.  PI  Imiercept
List of eigenvalues in descending order: 99336  .27303 0.00
Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Nuil Alternative Statistic 95% Critical Value 90% Critical Value
r=10 r=1 105.3189 15.8700 13.8100
<=1 =2 6.6961 9.1600 7.5300

Cointegration LR test based on trace of the stochastic matrix

Nulk Alternative Statistic 095% Critical Value 90% Critical Value
r=0 : =1 112.0150 20.1800 17.8800
<=1 >=2 6.6961 9.1660 7.5300

HNWING : Use the above tables to determine r (the number of cointegrating vectors)

1 mIAEAI I

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1
PITAX 3743E-3
( -1.0000)
P1 -.3852E-4
( .10292)
Intercept 18.2903
( -48864.3)

flut : BInnEAIIN
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@15197 6.7 HANSANY error correction mechani sm YBIMBRYIAyARasTTNA I INTINE

ECM for dependent variable dPITAX estimated by OLS based on cointegrating VAR(9)

Regressor Coeflicient T-Ratio Probability
dPITAX1 14302 8.7223 001
ap1t - 0061100 : - 98884 379
dPITAX? 2.1981 10.0411 001
a2 061070 ) 10.5737 000
dPITAX3 2.7075 10.7875 000
dpI13 035957 4.5690 010
dPITAX4 34273 13.0947 000
dPH4 -.13915 -10.2166 001
dPITAXS 2.5339 10,7863 000
dPIs -16975 -0.6604 001
dPITAX6 2.5180 122834 000
dPI6 -.27509 -12.6777 000
dPITAX? © 2.1405 12.2811 000
dp17 -36055 -15.5703 000
dPITAXS 81419 9.1604 001
P18 -19267 -11.4733 000
ecm1(-1) -1.2779 -102715 001
List of additional temporary variables created:
dPITAX = PITAX-PITAX(-1) dPITAX1 = PITAX{-1)-PITAX(-2)
dPI1 = PI(-1}-PI(-2) dPITAX2 = PITAX(-2)}-PITAX(-3)
dPI2 = PI(-2)-PI(-3) dPITAX3 = PITAX(-3)-PITAX(-4)
dPI3 = PI{(-3}PI(-4) dPITAX4 = PITAX(-4)-PITAX(-5)
dP14 = PI(-4)-PI{-5) dPITAXS = PITAX(-5)-PITAX(-6}
dPI5 = PI(-5)-PI(-6) dPITAXS6 = PITAX(-6)-PITAX(-7)
dPI6 = PI(-6)-PK-7) dPITAX7 == PITAX(-7)-PITAX(-8)
dPI7 = PI(-7}-PI(-B) dPITAXS = PITAX(-8}-PITAX(-9)

dPI8 = PK-8)-PI(-9)
ecri] = L.OOOO*PITAX-.10292*P] +48864.3

W 2IATRIHIR
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Madaa19g vedauns ECM veamidulaynnasssun

R-Squared 99905 R-Bar-Squared 99526
S.E. of Regression 333.7080 F-stat. F(16, 4) 263.5436[.000]
Mean of Dependent Variable -111.8571 S.D. of Dependent Variable 48478
Residual Sum of Squares 445444.1 Equation Log-likelihood -134.4019
Akaike Info, Criterion - -151.4019 Schwarz Bayestan Criterion -160.2803
DW-statistic 2.5188 System Log-likelihood -331.3065
Diagnostic Test

Test Statistics LM Version F Version
A: Serial Correlation CHSQ( 1)= 5.2867[.021} F( 1, 3)= 1.0093[.389]
B: Functional Form CHSQ( D=.0011883[.973] F( 1, 3)=.1698E-3[.990]
C: Normality CHSQ( 2= .83615[.658] Not applicable
D: Heteroscedasticity CHSQ( 1)= 2.1208[.145] F( 1, 19)= 2.1344[.160]

A:Lagrange multiplier test of residual serial correlation of the fitted values

B:Ramsey's RESET test using the square

(C:Based on a test of skewness and kurtosis of residuals resideals on squared fitted values
D:Based on the regression of squared

it : InmsAINIel

NAAABANAAOURIEIUIU cointegrating vector WUIIAUMIT1w MAMERU Ayana0
sssumiidwifuniluwosdemounsaruduiutluszesanfvanslumsai 6.6 ufaw
Prmiduiuivesianlsi i lunsinugadesfefinnudiniui i lufiemudentu &
mnselddruynnanfegruniin/@eunlaslniiinizeeiinarin 1ty 1dyana
wrsunuBoutaslyl 010202 wine snsduSewaums ECM éﬁﬁmﬁmnﬁ'@ﬁﬁ'&ﬁﬁmm@
atagaoranuSeiiui 99% sdhuilssdanls dpr1 minfy Tasramaansalumsysudarite
dhgraonmilussezeniidwiiy  -12779  Femrwmunsalunseinevesaumseglu
FTALIY fovian R uay adjusted-R” Sy 0.99 uozwan1svi simulation Al¥naneada
Fagudulizngdiun Theil’s inequality coefficient IAAiAFeNAUMIAL 0.0027 f1 bias
proportion figufiy 0.0001 f1  variance proportion UAUIAY 0.0004 UAT covariance
proportion HAUAL 0.9992 nazdauamamaeuiioosas 0.4 mnhusetioihumse

as o =5 9 A o =t -:; - u'/
mamuﬁmmynmm‘lnamﬂaﬂugmmnmmmﬂuum
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aunsTe Wdysaaiiphwaunsivnsaaildluns@nnfeplinni - VAR

[} le o g 1 - é a ¥ y
Model Bifiuua Tunawdsifadinsiily cointegrating Fefinan1s@nuideaseae ki

MI19N 6.8 HANIIANY cointegration test YDITIE a2 YARa T INTINT

A1a8ANANBUITIMIY cointegrating vector TiHFVTI0 IAdIMYARR
21 observations from 2538Q2 to 2543Q2, Order of VAR = 9.
List of variables included in the cointegrating vector: P~ GDP  Infercept
List of eigenvalues in descending order: .87196 70007  0.00
Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=0 =1 43,1631 15.8700 13.8100
<=1 r=2 25.2883 9.1600 7.5300

Cointegration LR test based on trace of the stochastic mafrix

Nult Alternative Statistic 95% Critical Value 90% Critical Value
r=0 >=]1 68.4514 20.1800 17.8800
<=1 >=2 25.2883 9.1600 7.5300

YN : Use the above tables to determine r (the number of cointegrating vectors)

i : PMSATUIR

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1 Vector 2
PI -.5591E-5 ~7262E-4
{ -1.0000) ( -1.0600)
GDF .2108E4 5102E-4
{ 3.7702) { .70265)
Intercept -18.5961 -2.9837
(-3326239) (41089.1)

fiun ; ImsAIR
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A91971 6.9 HAN1SANY error correction mechanism VaINg o wyAnaselnsng

ECM for dependent variable dPI estimated by OLS based on cointegrating VAR(9)

Regressor Coefficient T-Ratio Probability
dp11 -25.8896 24015 095
dGDP1 16.4813 2.3377 101
dr12 20.7513 1.8510 161
dGDP2 -14.8126 -1.9339 149
apPI3 -6.2777 -1.1058 350
dGDP3 3.6579 95025 412
dp4 -5.5670 - 89275 438
dGDP4 41215 98449 397
P15 -14.7945 -1.5889 210
dGDP5 10.5045 1.6755 192
dpri6 5.4200 86154 452
dGDP6 -4.1994 -.88547 441
dpPI7 -4,1273 -1.9667 144
dGDP7 3.3342 2.3635 099
dPI8 -5.0302 -2.5013 088
dGDP3 3.6098 2.5725 082
ecm1(-1) -31208 -2.6742 075
ecm2(-1) 3.4390 23756 098

List of additional temporary variables created:

dPI = PI-PI(-1)

dGDP1 = GDP(-1}-GDP(-2)

dGDP2 = GDP(-2)-GDR{(-3)

dGDP3 = GDP{-3)}-GDP{-4}

dGDP4 = GDP(-4)-GDP(-5)

dGDP5 = GDF{(-5)»-GDP(-6)

dGDP6 = GDP(-6)-GDP(-7)

dGDP7 = GDP(-7)-GDF{-8)

dGDPE = GDP(-8)-GDP(-9)

eoml = 1LOOOD*PI-3.7702+GDP+3326239
ecmt2 = 1.0000%PL-,70265*GDP-+41089.1

A ; INAITRTUIN

dP11 = PI(-1)-PI(-2)
dPI2 = PI-2)-PI(-3)
dPI3 = PI(-3)-P(~4)
dPI4 = PI-4)-PI(-5)
dPI5 = PI(-5)-PI(-6)
dPI6 = PI(-6)-PI(-7)
dPI7 = PI(-7)-PI(-8)
dPI8 = PI(-8)-PI(-0)
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AmaAA1q vaaums ECM vsenaldanyama

R-Squared 92856 R-Bar-Squared 52371
S.E. of Regression 19911.1 F-stat. F(17, 3) 2.29361.270]
Mean of Dependent Variable 7118.1 S.D. of Dependent Variable 28850.8
Residual Sum of Squares 1.195+09 Equation Log-likelihood -217.2454
Akaike Info. Criterion -235.2454 Schwarz Bayesian Criterion -244.6461
DW-statistic 3.0205 System Log-likelibood -368.8249
Diagnostic Test

Test Statistics ' LM Version F Version
A: Serial Correlation CHSQ( D= 19.8908].000] F( 1, 2)= 35.86621.027]
B: Functional Form CHSQ( 1)= NONE E( 1, 2= NONE
C: Normality CHSQ( 2)= NONE Not applicable
D: Heteroscedasticity CHSQ( 1= .23394[.629] F( 1, 19= .21404]{.649]

ALagrange multiplier test of residual seria{ correlation

B:Ramsey’s RESET test using the square of the fitted values

(C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values

A MINAISATHIN

¥

YHAIA0A max test LAY trace test lﬁﬂammﬂ"mm cointegrating vector IWNUADY LAy
ilevins1szanain 1 cointegrating vector #@an3sevnenihduilszinsussdunlsaaszygn

n’: H @ i o o o a -3
Aoaiaeed vector fotinTsmnaiiuinniufedionfaiudiinrumelulsymaiiugadu

o r ﬂ' é’ 1 ot =) ﬁd
wildswlddnysnafindudielasviavssmansznuaunsog lnnadunlsz@nilu
cointegrating vector d1MiUNaURIANNT ECM varndaulsdiuun lifitedngmieana

@ w Al o o Y- o A o A o -]

unzdunlsyndaiinisdfymeadalissaunindediuise 90%  saniemanusalums

Wudiiaasdimmaunsalumsliudaied gaasnmlussezaniduaasluasiei 6.9

Ieu

=y

disisrsanradAavesauniswudmda R veliehigaud adjusted R® ndulisfineudnedisy

Ce

v . . a [} v A ' =] o
wishadanaaeuilyn serial correlation Salvinalidmfians edilsfimwmavesmsi
. . o =t ' . . . . Y o
simulation 1HHANITNENNTAINAABNAT Theil’s inequality coefficient 1AL 0.0048 uazdinl

[ »
anuamIAmao N gafouns 0.7 iy
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aunnae idndtu ldldyaravesdipinaiijuuvaumsiminzaudoguuyui VAR

1 g ¥ 3 é o T ¥
Model ‘hitlsngitesnsfinazuun Tunm Fiinansdnyuaasdninde 1ui

5190 6.10 #an 138N cointegration test voaMERW A TR Ynanalnsina

AE3ANATOUHISINIM cointegrating veetor dmTumiAinldiiAyana
22 observations from 2538Q1 to 2543Q2. Order of VAR = 8.
List of variables included in the cointegrating vector; CITAX ~ PF
List of eigenvalues in descending order: 47624 11452
Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Valze 90% Critical Value
r=90 =1 14.2281 11.0300 9.2800
=1 =2 2.6757 4.1600 3.0400

Cointegration LR test based on trace of the stochastic matrix

Nul} Alternative Statistic 95% Critical Valoe 90% Critical Value
r=0 =1 16.9038 12.3600 10.2500
r<=1 =2 2.6757 4.1660 3.0400

HIYIN) : Use the above tables to determine r (the number of cointegrating vectors)

N1 : RN

Estirnated ceintegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1
CITAX -.2855E-4
{ -1.0000)
'PF 1363E-4
( 47719)

Mt nnnssiuaw



170

@15197 6.11 WaN15ANH error correction mechanism vaamiRwldiAyananalnsna

ECM for dependent variable dCITAX estimated by OLS based on cointegrating VAR(8)

‘Regressor Coefficient T-Ratio Probability

 dCITAX1 - 56242 -1.4878 180
dPF1 23069 13201 228
dCITAX2 -1.4843 4,070 005
dPF2 58244 3.0441 019
dCITAX3 -1.6368 -3.2093 015
dPE3 26282 1.2051 267
dCITAX4 -1.2316 -1.9936 086
dPF4 24563 13607 216
dCITAXS 13317 -3.0576 018
dPF5 20910 1.3079 232
dCITAX6 - 52612 -1.5824 158
dPE6 31875 15088 098
dCITAX7 - 46991 -1.6071 152
dPF7 12947 69637 509
eoml1(-1) -39346 -2,3596 050

List of additional iemporary variables created:

dCITAX = CITAX-CITAX(-1)
dPF1 = PF(-1}-PF(-2)

dPF2 = PF(-2)-PF(-3)

dPF3 = PF(-3)-PF(-4)

dPF4 = PF(-4)}-PF(-5)

dPF5 = PF(-5)-PF(-6)

dPE6 = PF(-6)-PF(-7)

dPF7 = PF(-7)-PF(-8)

ecm! = 1.000O*CITAX-47719%PF

361 2 IPAITATU I

A1edfa19q wesanns ECM veamiiivldBayane

dCITAX1 = CITAX(-1)-CITAX(-2)
dCITAX2 = CITAX(-2)-CITAX(-3)
dCITAX3 = CITAX(-3)-CITAX(-4)
dCITAX4 = CITAX(-4)-CITAX(-5)
dQTAXS = CITAX(-5)-CITAX(-6)
dCITAX6 = CITAX(-6)-CITAX(-7)
dCITAXT = CITAX(-7)-CITAX(-8)

R-Squared
S.E. of Regression
Mean of Dependent Variable

Residual Sum of Squares

98618
5839.9
1658.3
2.39E+08

R-Bar-Squared

F-stat. F(14, 7)

8.D. of Dependent Variable
Equation Log-likelihood

95854
35.6755(.000]
28679.1
-209.4144
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Akatke Info. Criterion -224.4144 Schwarz Bayesian Criterion -232.5973
DW-statistic 1.7571 System Log-likelihood -432.1413

Diagnostic Test

 Test Statistics 1M Version F Version
A: Serial Correlation CHSQ{ 4)= 13.9403[.007] F( 4, 3= 1.2972[.433]
B: Functional Form CHSQ( 1= 2.7043[.100] F( 1, 6= .84091[.395]
C: Normality CHSQ{ 2)= 1.0288[.598] Not applicable
D: Heteroscedasticity - CHSQ( 1)= .24585[.620] F( 1, 20)= .22603[.640]

A:Lagrange muitiplier test of residual serial correlation
DB:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of restduals

D:Based on the regression of squared residuals on squared fitted values

4
s QO

VNNBANYINUIIAIODANL max test MO trace test IRnamBoudufeiisuam
. . [ & 4 o L o ar ]
cointegrating vector WALVl ievhimsalszanadounisamduiug luszezonudanud
1 s o o =2 4 Py
wisvnsvesiibssnsvesdunisdlsvesgs fallmTosmnathaneawaundgiu  Tas
+ 9 = é r g < = 1
anvesmsilaswnlasir lsvesgsfonilamigeziinah e laniidu 1diidyaaaniieu
¥ o
uasiudiamafeadu 047719 vl e msdsanamaumsmsdiudaluszezdu
& = Y o el o ar - o ' o wooor o =g o
Feravneatavesdalimaieds hifideddy edrelsiammmaundilunnlfudidasdiie
difignnadafiendgeiui 95% unzfin iy -.39346 wneawnmmlfuduiedhg

s

gaonmluszezenvesmBitu Idiidysaslugrwaadalyne lasuada llaunsoliud

&
18 30% dmSusiadadie wesaumsdsldnwontuos hififlamt serial comelation w3e
heteroscedasticity Tasdianuaunselumsefute lddefosas 98 drunavean1sii simulation
asuinalimaluniswonsainfdiefinsanena 1988 uaze1 Theil’s inequality cocfficient &

AWMU 0.0406
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)

aunst vesgsiviipduuvaumsions il lunsf@aufegiunm

9

13 L
Model Bitinualdmawadiinsneiilu cointegrating vector Taodinamsfnuidail

= - . . - =
13141 6.12 HaN15ANH) cointegration test ‘llﬂ\‘lﬂ‘ln?'ﬂlﬁ\iﬁiﬂﬁflﬂjﬂiu'lﬂ

AITBANAAIVHITIUIN cointegrating vector SMMFDATIFVBAgID

25 observations from 2537Q2 to 2543Q2. Order of VAR = 5, chosen r =3,
List of variables included tn the cointegrating vector: PF GDP  IMILR  Intercept
List of cigenvalues in descending order: .77998 66701  .3225¢  0.00

Cointegration: LR test based on maximal eigenvalue of the stochastic matrix

VAR

Nuil Alternative Statistic 95% Critical Value 90% Ceritical Value
r=9 =] 37.8505 22.0400 19.8600

=1 =2 27.4907 158700 13.8100
r<=2 =3 97335 9.1600 7.5300

Cointegration LR test based on trace of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Vatue
r=0 =1 75.0747 34.8700 31.9300
r<=1 >=2 37.2242 20.1800 17.8800
<=2 =3 9.7335 9.1600 7.5300

H¥BINE : Use the above tables to determine r {the number of cointegrating vectors)

T : MTHIHI

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1 Vector 2 Vector 3
FF -.6452E-5 A289E-4 -.8614E-5
( -1.0600) { -1.0000) { -1.0000)
GDP - 1670E-5 -.2150E-5 J491E-5
( -.25879) ( .16685) ( .17309)
IMIR -.14032 .061880 15322
(-21749.4) { -4801.6) { 17787.9)
Intercept 3.5113 46741 -3.1912
( 544251.3) {-36268.6) (-370487 4)

i IMSATLIA
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@191 6.13 WaN15ANY error correction mechanism VB3 lsveagsnondlnsna

ECM for dependent variable dPF estimated by OLS based on cointegrating VAR(S)

Regressor Coefficient T-Ratio Probability
dPF1 -1.0904 -2.7117 022
dGDP1 21625 L6472 131
dIMLR1 -194.9438 -.049276 962
dPF2 | -.54468 -1.5148 161
dGDP2 097307 89396 392
dIMLR2 -8167.9 -1.6175 137
dPF3 086343 31735 758
dGDP3 096371 95739 361
dIMLR3 -6288.9 -1.0430 321
dPF4 020847 .10294 920
dGDP4 18011 1.5480 153
dIMLR4 8817.6 1.9184 084
ecmi(-1) -17941 -3.2932 .008
ecm2(-1) -.021886 -20111 845
ecr3(-1) 13201 1.8150 100

List of additional temporary variables created:

dPF = PF-PF(-1)

dGDP1 = GDP(-1)-GDP(-2)
dPF2 = PF(-2)}-PF(-3)

dIMLR2 = IMLR(-2)-IMLR(-3)
dGDP3 = GDP(-3}-GDP{-4)
dPF4 = PF(-4)-PF(-5)

dPF1 = PF(-1)-PF(-2)

dIMLR1 = IMLR(-1)-IMLR(-2)
dGDP2 = GDP(-2GDP(-3)
dPF3 = PF(-3)-PF(-4)

dIMERS = IMLR(-3}-IMLR(-4)
dGDP4 = GDP{-4)-GDP(-5)

JIMLR4 = IMLR(-4}-IMLR(-5)

ecml = 1.0000¥FF+.25879*GDP+21749.4*IMLR-544251.3
ecm? = 1.0000*PF-.16685*GDP+4801 6*IMLR+36268.6
ecm3 = 1.OOOO*PF-.17309*GDP-17787.9*IMLR+370487.4

Nt - TInAISAIUIEE

ADAAIIY YBarun1s ECM wediilivaagsne

R-Squared 81615
SE. of Regression 84442
Mean of Dependent Variable -935.8374

Residual Sum of Squares 7.13E+08

R-Bar-Squared

F-stat. F(14, 10)

8.D. of Dependent Variable
Equation Log-likelihood

55876
3.1708[.036]
12712.2
-250.0507
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Akaike Info. Criterion -265.0507 Schwarz Bayesian Criterion -274.1923

DW-statistic 1.8924 System Log-likelihood -520.4556
Diagnostic Test
Test Statistics LM Version F Version
A: Serial Correlation CHSQ( 4)= 15.1992[.004] F( 4, 6)= 2.3262[.170]
B: Functional Form CHSQ( 1)= .83542[361] F( 1, 9= 3M15[.591]
C: Normality CHSQ( 2)= 1.4513(.484] Not applicable
D: Heteroscedasticity CHSQ( D= .40994(.522] F( 1, 23)= .38343{.542]

AiLagrange muitiplier fest of residual serial correlation
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residnals

D:Based on the regression of squared residuals on squared fitted values

AU INMITAIUIM

wansAnEAuMIR1 lsvesysAunudidliSuau  cointegrating  vector  (IALIEY
cointegrating vector A4A13 197 6.12 e 1n 15U TZMMUAT cointegrating vector UATWLITT vector

o A PR | Y o a o o A v o4
‘nn’ﬂmﬁz'ﬂmmmuwmﬂmmmﬂﬂmmuﬂiNﬁﬂﬂmGnma‘najmﬂiuﬂssmﬁmm@mngﬂ
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fsy  tludsilendadmvaiviasiumelullszmendesdundounlas liloefinain s 1sves
=, 1 (o] or A ] o _ A'
grnonlfounlaslufismefvdugaiunse fudwazrSosvesssfalianudeanisiiu
J 1 o o a A 9 as ar g Fy Ao A
YU o6 Istawdmiumaseamnentdulidaneendofudilimnsasmneduay
-y L] ] - = o - =4 M = t:i:i sé
awnsoefing lRswdsidumansdnuaunisit bsvssgsfenethiufe lunsdifinses
[~ = = o A ~a - W o ::iy & g PR o
nnedhian  gsfvedid lsnfsuntadlufismefodudesmendaiudeviiugsfeiivh
wiml#duFediundn  suzfnsdimosmnaiiuay  gsieilid s lufameassfududy
as d.w =, = u') x:igl s S d‘l Qs - 1 A
sasmenuisudenihugsfivTaois hifidesowedusonaaaniunafuang Famszaen
; -~ ﬂ gt U £ 1 ar a % 1
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svezduFnaneadan 14 iy Tasdaualsdaulug hithlsddameadauazaiu
ansnlumseimeiifisefovar 81 dmSuranisf simulation TRWafiAAeNA1 Theil’s
[ k2
inequality coefficient WY 0.0324 uaziinlmaaiamndsisiesiesay 4.6 mniudsuaaslu
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aumsswidnfinedenvesigraiipunuuaunsildlunisdoufegiluuui

4 [ b4
VAR Model hiltlsngissnsfivazuua Tunat Taelinanisfnuidatsde 1l

= 2 . . =t v
13190 6.14 HANTIANHT cointegration test ‘Ilﬂ@ﬂ'lﬁﬂ]i‘lﬂﬂ%lﬁ'lﬂ‘lﬁﬁﬂ'lﬁ

A TBANATOUNISIMIU cointegrating vector thinTumbriaden
22 observations from 2538Q1 to 2543Q2, Order of VAR = 8_
List of variables included in the cointegrating vector; ITAX GDP
List of eigenvalues in descending order: .65689 (0032082
Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Nuli Alternative Statistic 95% Critical Value  90% Critical Value
r=0 =1 23,5337 11.6300 9.2800
=1 =2 070694 4.1600 3.0400

Cointegration LR test based on trace of the stochastic matrix

Nuli Alternative Statistic 95% Critical Value 90% Critical Value
r=0 r>=1 23.6044 12.3600 10.2500
<=1 =2 070694 4.1600 3.0400

MUYV : Use the above tables to determine r (the number of cointegrating vectors)

11 - MNAITAIUIU

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1
ITAX 4700E-4
{ -1.0000)
GDP -.3558E-5
( .075710)

A INATIRIHIN
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15197 6.15 WAN15ANY error correction mechanism ¥aamimMmedeusnglasana

ECM for dependent variable dITAX estimated by OLS based on cointegrating VAR(8)

Regressor Coefficient T-Ratio Prob
dITAX1 052140 27392 792
dGDP1 22010 4.5985 002
dITAX2 -43164 -1.8498 107
dGDP2 15354 2.3041 055
dITAX3 -1,3229 -3.3636 012
dGDP3 31540 3.5689 009
dITAX4 -1.5045 -3.2245 015
dGDP4 31837 3.1512 016
diTAXS -1.1251 -2.8411 023
dGDP5 13489 1.3297 225
dITAX6 -.12549 -.24651 812
dGDP6 13377 20276 082
dITAX7 -.81818 -2.9388 022
dGDP7 -.069090 -.98574 357
ecrml(-1) -48743 -2.7181 .030

List of additional temporary variables created:
dITAX = ITAX-ITAX(-1)

dGDP1 = GDP{-1)-GDP(-2)

dGDP2 = GDP(-2)-GDP(-3)

dGDP3 = GDP(-3)-GDP{-4)

dGDP4 = GD¥{-4)-GDP(-5)

dGDPS = GDP(-5}-GDP(-6)

dGDP6 = GDP(-6)-GDP(-7)

dGDP7 = GDP(-7}-GDP(-8)

ecml = 1.0000*¥ITAX-.075710*GDP

v : 9IpmIAIuIR

dITAXL = ITAX{-1)-ITAX(-2)
dITAX2 = ITAX(-2)-ITAX(-3)
dITAX3 = ITAX(-3)-ITAX(-4)
dITAX4 = ITAX(-4)}-1TAX(-5)
AITAXS = ITAX{-5-ITAX(-6)
dITAX6 = ITAX(-6}ITAX(-7)
dITAX7 = ITAX{-7THITAX(-8)
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AaanA19q vesaun1s ECM veamiinden

R-Squared .89577 R-Bar-Squared .69932
S.E. of Regression 3815.9 F-stat. F(14, 7) 4 .4887[.027]
Mean of Dependent Variable 68.2727 S.D. of Dependent Variable 6958.9
Residual Sum of Squares 1.02EH)8 Eguation Log-likelihood -200.0526
Akaike Info. Criferion -215.0526 Schwarz Bayesian Criterion -223.2354
DW-statistic 1.8579 System Log-likelihood -439.5751
Diagnostic Test

Test Statistics I M Version F Version
A: Serial Correlation CHSQ( 4)= 3.7225[.445] F( 4, 3)= .15275[.949]
B: Functional Form CHSQ( 1)=.0096224[.922] F( 1, 6)=.0026254[.961]
C: Normality CHSQ( 2)= .52504[.769] Not applicable
D: Heteroscedasticity CHSQ( 1)= .37996[.538] F( 1, 20)0= .35149[.560]

A:Lagrange multiplier test of residual serial cotrelation
B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals

D:Basad on the regression of squared residuals on squared fitted values

3 ; 9MsfIuaa

INFIADNA max test UIAZ trace test WUIMNEN1SOUTAT rank 50814 cointegrating

T 4 A o o a A al . . A =)
vector WAUNTES taznSesmnenihduilse FnFueedalsuasauns cointegration A1 143

A & g/ ~ .:i o
wisavnafiuandgndesawaunigiu  Tasvinavesnansgvunnmaaouulaanie
@ A ) ' o ]
fuainasumelullszmeiiasdunilimiiag vzfinasii st nanmedeunlaaulasly
¥
0.07571 MUY NAIDINUHINIIMTUTZUAAUNT error correction IagwUIAwAlTau
aniifedivameada uazanansalunsiudvesmiimedouiedhgaosnimiugas
a9

nagallvielasunada lliinms lumsdsudafesas 48 wenmniianueunsaiuns
- ' Y A A ' 2 et ' oo o )
afusrsInuMIAUeAeN T INAY R® Mimuminy 089 dimSumavsemsi

simulation WuTNAWAAIAMTS IR eoaz 1.4 TaBliAN Theil’s inequality coefficient 19

]
L]

Aiafedia 1L 0.0093 A1 bias proportion IR UV 00013 A variance proportion AN

s

N1 0.0032 1aE covariance proportion A UMY 0.9939 LEAIAINIHN 6.7



0SL6E660
LGBTZEOO'0
mwcm_cod
9ELEH00°0

noniodold souelIEAO
uoiedory 90URLIEA
nonuodolg serg

uenIS0)) Aenbau] s J1eyL,

B2ULRMLY .

& &
42 &
F o & o

§958410°0
SOV 0L

TITO'FSIT

BEOLY

oLy odeinediod SIN0sSqY TESA
JOLIF QIN[OSqY UES

© 1011g arettbg ueoy 100

180

RLREB{RLE (XVID ;@mZ.Fm_.c.q@Pwﬁwc_!m;_(.@n—u:nm.\@_\.ﬁ L9 UMLE

TBUHLYELUULL © Litl

AL
P
)

- 00002

oooor

- 00009

00008

- 000001

00001

—- 0000%1
ULILALR



181

aunisseldmiiudwedgnalisdevraunsfimnsasdldlunsdnuideg
BUUHN VAR Model Tl Tdsaamasian e lu cointegrating vector Iagdinanisény

o
fI015 19911

A151971 6.16 WANISANH cointegration test YBINTHIUNI N InTINE

AASANANBLINS1UIY cointegrating vector uFumEhiudn

25 observations from 2537Q2 to 2543Q2. Order of VAR = 5.

List of variables included in the cointegrating vector: IMTAX IM  Intercept
List of eigenvalues in descending order: 39648 32904  .0000

Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic ' 95% Critical Value 90% Critical Value
=0 =1 12.6244 15.8700 13.8100
=1 =2 9.9762 2.1600 7.5300

Cointegration LR test based on trace of the stochastic matrix

Nuli Alternative Statistic 95% Critical Value 90% Critical Value
r=9 =1 22.6006 20,1800 17.8800
<=1 =2 9.9762 9.1600 7.5300

MBI : Use the above tables to determine r (the number of cointegrating vectors)

A : IAsHua

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1 Vector 2
BUTAX A487E-4 - 1598E-4
( -1.0000) ( -1.0000)

™M 3757E-5 AYTOE-6
| (-.083714) ( .025462)
Intercept -2.7688 -.010663
{ 61703.5) (-667.0538)

it : Inn1sRIMIA



182

M3 6.17 HANT1SANHI error correction mechanism ¥oamividnalasina

ECM for dependent variable dIMTAX estimated by OL-S based on cointegrating VAR(5)

Regressor Coefficient T-Ratio Probability
dIMTAX1 071772 32510 750
dmM1 -.0049319 -.38687 704
dIMTAX2 .24393 1.1772 257
a2 -.010998 -89227 386
dIMTAX3 21442 86445 401
dIM3 0057359 46127 651
dIMTAX4 52150 2.0784 055
dv4 -.0042126 -.31177 760
ecml(-1) -.19391 -3.0721 {008
ecm2(-1} 013071 58202 569

List of additional temporary variables created:

dIMTAX = IMTASC-TMTAX(-1)
dIM1 = IM(-1)-IM(-2)
dIM2 = IM(=2)-IM(-3)
dIM3 = IM(-33)}-IM(-4)
dIM4 = IM(-4)-IM(-5)

ecml = 1.OOOO*IMTAX+.083714%IM-61703.5

ecm?2 = LOOOOFIMTAX-.025462*IM+667.0538

97 INAITATHIN

A1aann1aY YB3 ECM vsaminn

dIMTAX1 = IMTAX(-1>-IMTAX(-2)
dIMTAX?2 = IMTAX(-2)-IMTAX(-3}
dIMTAX3 = IMTAX(-3-IMTAX(-4)
dIMTAX4 = IMTAX(-4)IMTAX(-5)

R-Squared .64884 R-Bar-Squared 43814
S.E. of Regression 1404 9 F-stat. F( 9, 15) 3.0795[.026]
Mean of Dependent Variable -289.1200 S.D, of Dependent Variable 1874.3
Residual Sum of Squares 2.96E+07 Equation Log-likelihood -210,2819
Akaike Info. Criterion -220.2819 Schwarz Bayesian Criterion -226,3763
DW-statistic 2.1055 System Log-likelihood -494,1280
Diagnostic Test
Test Statistics LM Version F Version

A: Serial Correlation
B: Functional Form

C: Normality

CHSQ( 4)= 1.4883[.829]
CHSQ( 1= 1.0202{.312]
CHSQ( 2)= 5.2239(.073]

F( 4, 1i)= .17408[.947}*

E( 1, 14)= .59563[.453]*

Not applicable
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D: Heteroscedasticity CHSQ( 1)= .16267(.687] F( 1, 23)= .15063[.701]*

A:Lagrange multiplier test of residual serial correlation

B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals
D:Based on the regression of squared residuals on squared fitled values

1 ; INTFATUIN

HANSAAYINTINATEUHITUIU  cointegrating  vector wuddaualsild lsitianw
it luszezediioisennns1add max test UABWIITANNMADA trace test
FuNFeayMsAFNRUE Iuszsze17 IauaziiS1uIU cointegrating vector IMNALABY A9
& o v ) a & s oA A
Hugaimsdszanam cointegrating vector Tﬂﬂﬂﬁmiﬁﬂ‘ﬂmmﬂﬁ vector MABUNTUUTIIATEY

9 ar <5 ﬁ‘f Y] ¥ a o ~ = d' T o LY d'
wnemhidnlszAndresdanlsyamnniviigndesamaunagn Aediayamiasindn
p - 3 . . ' 2 X
fhigmmdimsnfeunlashivilonipeiisadhlindidu/asuaunuiu 0.025462

3¢ v
wire sgelsfmumavesaumsmadivda lusz ez dui 1Ausivz biliflgn1 serial correlation
9
#59  heteroscedasticity tadautlyadavsng hifiifedwgmeadd saumsanuainsalums
o 1 [ ' oar U -1 o . .
afunovesauns higefeiian R niiy 0.64 ed1elshiammavesmsh sinulation 1dnams

o 1 ] )| Y &

HNTAADUTARBIAT Theil’s inequality coefficient WY 0.0227 HaRuAnAAdBUHNYY

Sagaz 3.2 unzmadanig Aennsldraiadstaaslunind 6.8
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aumsswidmiyasiesiguaiiytuuuansmsimineaufejluuuii - VAR

9 H b4
Model By ngiissasiiuaziua Iunat Taedi somsfinydsansade i

M15147 6.18 HANTANY cointegration test YsaMByanuiuNg TN

AaBANARBUMESIMIMU cointegrating vector 1 FuaT Hyaduitu
22 observations from 2538Q1 to 2543Q2. Order of VAR = 8.
List of variables included in the cointegrating vector: VAT ~ CTOTAL
List of eigenvalues in descending order: 61171  .082185
Cointegration LR test based on maxima? eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Ceritical Value 90% Critical Value
r=90 =1 20.8120 11.0300 9.2800
r<=1 =2 1.8867 4.1600 3.0400

Cointegration LR test based on ¢race of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
=0 =1 22.6987 12.3600 10.2500
r<=1 >=2 1.8867 4.16060 3.0400

RUWYIHE : Use the above tables to determine r (the number of cointegrating vectors)

Fu1 : IAIEAIUIA

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1

VAT A270E-3
( -1.0000)

CTOTAL -.6693E-5
( 052713}

#31 : VINNITATHIN
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151971 6.19 HAMIAN error correction mechanism ﬂlﬂﬂﬂ]ﬁgﬁﬂ’]!ﬁuﬁ‘lﬁ‘lﬂiﬂ]ﬂ

ECM for dependent variable dVAT estimated by OLS based on cointegrating VAR(S)

Regressor Coefficient T-Ratio Probability
dVATI1 1.0224 2.6561 . .033
dCTOTALL -.0020289 -024795 981
dVAT2 51392 1.1098 304
dCTOTAL2 - -26168 -2.9830 020
dVAT3 73715 2.1386 070
dCTOTAL3 -.17616 -1.3529 218
dVAT4 48450 1.1612 284
dCTOTALA 018546 37693 17
dVATS 64161 1.6036 | 153
dCTOTALS ~067117 -.90338 396
dVATs 98249 2.5961 036
dCTOTAL6 21473 2.5372 039
dVAT? 51426 1.0119 .345
dCTOTAL7 11970 1.0200 342
ecml(-1) -1.7545 -3.0800 013
List of additional temporary variables created:
dVAT =VAT-VAT(-1) dVATI = VAT(-1)}-VAT(-2)
dCTOTALIL = CTOTAL(-1)-CTQTAL(-2) dVAT2 = VAT(-2)-VAT({-3)
dCTOTAL2 = CTOTAL(-2)-CTOTAIL{-3) dVAT3 = VAT{-3}-VAT(-4)
dCTOTAL3 = CTOTAL(-3)-CTOTAL{(-4) dVAT4 = VAT(-4}VAT(-5)
dCTOTAL4 = CTOTAL(-4)-CTOTAL(-5) dVATS = VAT(-5}-VAT(-6)
dCTOTALS = CTOTAL(-5)-CTOTAL{-6) dVATE = VAT(-6)}-VAT(-7)
dCTOTAL6 = CTOTAL(-6)-CTOTAL(-7) dVAT? = VAT(-T)}-VAT(-8)

dCTOTAL7 = CTOTAL(-7}-CTOTAL(-8)
ecml = 1.0000*VAT-.052713*CTOTAL

it pmMIfIuaw
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\J e X = ) 4;
ANAAN 1Y v8iaun1s ECM VaIMBY‘AUNH

R-Squared : .84171 R-Bar-Squared 52514
S.E. of Regression 4486.5 Fstat. F(14, 7) 2.6588[.099]
Mean of Dependent Variable 214.5909 S.D. of Dependent Variable 6510.6
Residual Sum of Squares 1.41E+08 Equation Log-likelthood -203.6144
Akaike Info, Criterion -218.6144 Schwarz Bayesian Criterion -226.7972
DW-statistic 2.0465 Systern Log-likelihood -438.3551
' Diagnostic Test
Test Statistics 1M Version F Version

A: Se¢rial Comrelation CHSQ( 4)= 7.6308[.106] F( 4, 3= .39829{.802]

. B: Functional Form CHSQ{ L)= 3.34311.067] F( 1, 6)= 1.0751[.340]
C: Nommality CHSQ( 2)= 2.5490[.280] Not applicable
D: Heteroscedasticity CHSQ( 1= 2.4230[.120] F( 1, 200= 2.4753[.131]

A:Lagrange multipier test of residual serial correlation

BiRamsey's RESET test using the square of the fitted values

C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values
fia1 : MnmsIm

v A I a ¥ LY. &
s1eldnnniyanuRudioRnsunni1erdd max test Ung wace test ¥4 linaaon
s ' o . . " e A . ) ot .3 o

AfesfuwyI WU cointegrating vector WAL cointegrating vector AUTNING

' ¥ @ d & oA Y s Jdyy o
szanumaumianuduRus luszozendanui uafeammnemidunlssanin ldgnassa
<y o - & ] = <o o =t 1 a
mudgulagmsndsunlasnmsui Tanvaunilaniessiinasin e ldonndyaduiiy
a‘ 3 T 3 é o’ ol z é L s i Qs 1 r
WU 0052713 Wiag ntiudsmaumsnisd fudd luszez dudnaatan 1ade ldnan'li
AogRlnAed Ll Baszn1eds hilldudymeadd  wavarwaunselumsefinevesas
nsdia liganaindefisn R niviy 084 davwinevesmawannsalunsuSudauiedyg

3 1 o o o & ot e r v = [V
qaanmluszezenarmiog Wonmanud i lunsilfudddsedsenite 0 fa -2 dauaas
Tumned 6.19 dwmSuramsih simulation Hilwamynenssifianedie Theil’s inequality

coefficient 111 0.0244 taziiauamammasuiiiasdosas 3.8
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aunsse Mnmiasswaniiavesiguaily dsuvaunsfimingaufegiunufl - VAR
' 3 & o 4
Model fimwzatasi Faiinanisfinyinail

$NT1T 6.20 HAMIANH cointegration test VoaaTHaTINNMTnNlasing

AaBANATBUMITIUIU cointegrating vector TTHTUMIHaTINMIIN

21 observations from 2538Q2 to 2543Q2. Order of VAR = 9.

List of variables included in the cointegrating vector: SSTAX =~ CTOTAL
List of eigenvalues in descending order: 94881  .53659

Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=0 =1 62.4166 14.8800 12.9800
=1 =2 16.1520 8.0700 6.5000

Cointegration LR test based on trace of the stochastic matrix

Null Alternative Statistic 05% Critical Value 90% Critical Value
r=0 >=1 78.5686 17.8600 15,7500
<=1 =2 16.1520 8.0700 6.5000

TN 119) : Use the above tables to determine r (the number of cointegrating vectors)

AN - INNTIAIUIL

Estimated cointegrating vectors, coefficients normalized in parenthesis,

Variable Vector 1 Vector 2
SSTAX J732E-3 9702E-3
| ( -1.0000) ( -1.0000)
CTOTAL -2092E-4 - 34726-4
( .027060) ( .035786)

i : INATTAIUIA
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MT1A 6.21 HANT1IANYI error correction mechanism YoM Basswmding e lnsana

ECM for dependent variable dSSTAX estimated by OL.S based on cointegrating VAR(9)

Regressor Coefficient T-Ratio Probability
Intercept 55598.4 3.3488 .079
dSSTAX1 2.1207 21812 161
dCTOTALI -.031883 -,62594 .595
dSSTAX2 54790 82724 495
dCTOTAL2 060976 2.8795 102
dSSTAX3 083062 23562 836
dCTOTAL3 11404 3.2093 {085
dSSTAX4 -1.1113 -4.8400 .040
dCTOTAL4 21728 54974 032
dSSTAXS -.44020 -1.7382 224
dCTOTALS 23648 2.9991 .096
dSSTAX6 -87414 -3,0284 .094
dCTOTALSG 18057 3.0220 054
dSSTAX7 -27361 -1.3115 320
dCTOTAL7 .13849 2.8070 .107
dSSTAXR -.74086 -4.3062 055
dCTOTALR 10479 1.8761 201
ecmnl(-1) -2,5617 -3.4643 074
ecm2(-1) -1.1614 -1.2516 337

List of additional temporary variables created:

dSSTAX = SSTAX-SSTAX(-1)
dCTOTALY = CTOTAL(-1}CTOTAL(-2)
dCTOTAL2 = CTOTAL(-2}-CTOTAL(-3)
dCTOTAL3 = CTOTAL{-3}-CTOTAL(-4)
dCTOTAL4 = CTOTAL(-4>CTQTAL(-5)
dCTOTALS = CTOTAL(-5}-CTOTAL(-6)
dCTOTALG = CTOTAL{-6)-CTOTAL(-7)
dCTOTAL7 = CTOTAL(-7)-CTOTAL(-8)
dCTOTALE = CTOTAL(-B}-CTOTAL(-9)
eomi = [.0000*SSTAX-.027060*CTOTAL

Pu : 3INATRIU

dS8TAX! = SSTAX(-1)}-SSTAX(-2)
dSSTAX2 = SSTAX(-2}-SSTAX(-3)

dSSTAX3 = SSTAX(-3)-8STAX(-4)
dSSTAX4 = SSTAX(-4)-SSTAX(-5)
dSSTAXS = SSTAX(-5)-8STAX(-6)
dSSTAXG6 = SSTAX(-6)-SSTAX(-7)
dSSTAXT = SSTAX(-7)-SSTAX(-8)
dSSTAXE = $STAX(-8)-SSTAX(-9)

eem2 = 1.0000*3STAX-035786*CTOTAL



191

ATGAA199 Yeamun1s ECM vpamilassnmin

R-Squared 98547 R-Bar-Squared 85474
S.E. of Regression 9564187 F-stat, F(18, 2) 7.5378{.123]
Mean of Dependent Variable 6.3333 S.D. of Dependent Variable 2509.4
Residual Sum of Squares 1829474 Equation Log-likelihood -149.2354
Akaike Info. Criterion -168.2354 Schwarz Bayesian Criterion -178.1583
DW-statistic 3.5641 System Log-likelihood -347.0446
Diagnostic Test

Test Statistics LM Version F Version
A: Serial Correlation CHSQ( 1= NONE F( 1, D= NONE
B: Functional Form CHSQ( 1)= NONE F( 1, 1)= NONE
C: Normality CHSQ( 2)= NONE Not applicable
D: Heteroscedasticity CHSQ( 1)= .33896[.560] F( 1, 19)= .31171[.583]

AcLagrange multiplier test of residual serial correlation
l B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals
D:Based on the regression of squared residuals on squared fitied values

311 : MR

AN SANY AR max test A trace test UAAIDISIUIN cointegrating vector YIS
] a . - i s = A:f’ ar
MImBas TN lialiSUaes cointegrating vector MAzIATBIMANaWTITUYSE ANEUIED
sl ldnnmadszanumasmaanaduiud luszezenianudutuslufiamato fu
= @ & ‘i 9 v .:'«1 < é a’ A 4:;
awauudgm unsdiensldhiedenisus InaFuiludumuvesgumifinsalfewlas
- g o Var w o = Fo & 3
sy s Insguamansosanunliassweniia lAmumnvudle lasviiavesnanszny
aunsog lMnnddulssintlu cointegrating vector wazileinismiaunsmsliuFalu
3 ¥ » [} o
szozdunuNdaddvesdulsdarzililsdwymeaddlssduarudetiufios o0% Wi
o
o \J a L A o ar 1]
nue TS lunsylSudadae Feaunsaganumuse lumsdiududigansam
luszazerveaniFasswafia lMondanus 1 lunsludmlumsed 621 edlstawan
[ 1 k-
asiinnuannsalumseSune ldddiennsainna R® Alld ity 0.98 sauvianavesns
1 simulation Hafinnuaunsolunisneinsel 1AAsndan Avilf1 Theil’s inequality coefficient

M1fiv 0.0035 wasiinnuaaiamiewdisdseaz 0.5
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¥ v
aunssieldmbassweniladuinvesfgmaiizluuvaunisildlunsdnu ezl

3 ] Yo or 1 3 . . & Qs
uUUR VAR Model laifinun Tdunawasidannef1u cointegrating vector Faiinan1sdnmida

aolud

- = . . e a T ow
MITHN 6.22 HAMIFANY cointegration test ‘“i’]@.ﬂ'{ﬁﬁﬁiﬂﬁ]“ﬂu‘luui'lﬁdﬂianﬁ

o
o or

fananAaaumIt 1IN cointegrating vector ST H assHm o
21 observations from 2538Q2 to 2543Q2. Order of VAR = 9.
List of variables included in the cointeprating vector: SSTAXFL. ~ CTRANSP  Intercept
List of eigenvalues in descending order: 99903 50760 0.00
Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=0 r=1 145.6987 15.8700 13.8100
r<=1 r=2 14 8777 9.1600 7.5300

Cointegration LR, test based on trace of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
=0 r>=1 160.5764 20.1800 17.8800
r<=1 =2 14 8777 9.1600 7.5300

HUIWINE : Use the above tables to determine r (the number of cointegrating vectors)

A1 : IMITAIUIE

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1 Vector 2
SSTAXFL -.3139E-3 -.0010149
{ -1.0000) ( -1.0000)
CTRANSP 1353E-3 .5588E-3
( 43096) ( .55053)
Intercept -2.2031 -9.9240
( -7019.4) { -9773.0)

Ay IMFAIUIN
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MT197 6.23 WAN13ANY1 error correction mechanism V@amBasswandinhiunglasna

ECM for dependent variable dSSTAXFL estimated by €OLS based on ceintegrating VAR(9)

Regressor Coefficient T-Ratio Probability
dSSTAXFL1 87603 22324 112
dCTRANSP1 - 72705 -3.0452 056
dSSTAXFL2 49533 1.5284 224
dCTRANSP2 -.40943 -1.8305 165
dSSTAXFL3 .73169 2.6609 076
dCTRANSP3 | -27527 -1.2627 296
dSSTAXFLA 53532 3.0645 055
dCTRANSP4 -.24876 -1.4932 232
dSSTAXFLS 1.1750 6.9738 006
dACTRANSPS -,22195 -1.6790 192
dSSTAXFL6 74488 4.3794 022
dCTRANSP6 -.38057 -2,7388 071
dSSTAXFL7 1.5311 7.3515 005
dCTRANSP7 -.33618 -3.2435 048
dSSTAXFLS 1.1423 7.6376 005
dCTRANSPS -.43392 -4.5121 020
ecmi(-1) -.90746 -2.4332 003
ecm?2(-1) -.60505 -1.7385 JA81

List of additional temporary variables created:

dSSTAXFL = SSTAXFL-SSTAXFL(-1)

dCTRANSP1 = CTRANSP(-1}>CTRANSP(-2)
dCTRANSP2 = CTRANSP(-2)-CTRANSP(-3)
dCTRANSP3 = CTRANSP(-3)-CTRANSP(-4)
dCTRANSP4 = CTRANSP(-4}-CTRANSP(-5)
dCTRANSPS = CTRANSP(-5)-CTRANSP(-6)
dCTRANSPS = CTRANSP{-6)-CTRANSP(-7)
dCTRANSP7 = CTRANSP(-7)-CTRANSP(-8)
dCTRANSP8 = CTRANSP(-8}-CTRANSP(-9)

dSSTAXFL1 = SSTAXFL(-1)-SSTAXFL(-2)
dSSTAXFL2 = $STAXFL(-2)-$STAXFL(-3)
dSSTAXFL3 = SSTAXFL(-3)-8STAXFL{-4)
dSSTAXFLA4 = SSTAXFL(-4)-SSTAXFL(-5)
dSSTAXFLS = SSTAXFL(-5)-SSTAXFL{-6)
dSSTAXFL6 = SSTAXFL(-6)-SSTAXFL(-7)
dSSTAXFL7 = SSTAXFL(-7)-SSTAXFL{-8)
dSSTAXFLSE = SSTAXFL(-8)}-SSTAXFL(-9)

ecm] = 1.0000*SSTAXFL-.43096%*CTRANSP+7019.4
ecin2 = 1.0000*SSTAXFL-.55053*CTRANSP+9778.0

N7 : IRNITAIUIN
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P1ABAA 1Y Y8 saHNs ECM vesartlasswaiiariini

R-Squared 99053 R-Bar-Squared 93687
S.E. of Regression 3428542 F-stat. F(17, 3) 18.4600[.0171
Mean of Dependent Variable 313.3257 S.D. of Dependent Variable 1364.6
Residual Sum of Squares 352647.0 Equation Log-likelihood -131.9491
Akaike Info, Criterion -149,9491 Schwarz Bayesian Criterion -159.3498
DW-statistic 2.7919 System Log-likelihood -264.9998

Diagnostic Test

Test Statistics LM Version F Version
A: Serial Correlation CHSQ( 1)= 10.8330(.001] F( 1, 2)= 2.1310{.282]
B: Functional Form CHSQ( 1)= NONE F( 1, 2)= NONE
C: Normality CHSQ( 2)= NONE Not applicable
D: Heteroscedasticity CHSQ( 1= .74519(.388] F( 1, 19)= .69903[.414]

A:Lagrange multiplier test of residual senal correlation

B:Ramsey's RESET test using the square of the fitied values

C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values
fa : MR
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aunsngidndasswoliadug  vesd sreiiplurunsimingaudsgluuun

. b
VAR Model imasiuazdinauua Ifuaarlu cointegrating lnsilwamsanuidsil

A = - . ] = 4'
15197 6.24 HaN15ANY1 cointegration test VBIA THATINMIUNDUY ‘318191‘;'3!1?[

A1a@ANAAdUMIS 1IN cointegrating vector ﬁﬂfumﬁmmmﬁnéuq
24 observations from 2537Q3 to 2543Q2. Order of VAR = 6. _
List of variables inchided in the cointegrating vector: SSTAXOTHER. CTOTAL  Trend
List of eigenvalues in descending order: .63132 27768  .0000
Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=0 r=1 23.9476 19.2200 17.1800
r<=1 =2 7.8068 12.3900 10.5500

Cointegration LR test based on trace of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Ceritical Value

r=0 =1 31.7544 25.7700 23.0800
r<=1 r>=2 7.8068 12.35060 10.5500

HUWHA - Use the above tables to determine r (the number of cointegrating vectors)

1T INNITATUIU

Estimated cointegrating vectors, coefficients hormalized in parenthesis.

Variable Vector 1
SSTAXOTHER AS577E-3
( -1.0000)

CTOTAL - 7656E-7
{ 4855E-3)

Trend 026165
{-165.9369)

1 : 1IDNITATUIN
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A15199 6.25 HAN15ANY error correction mechanism YeIMBassnaniindug nelazina

ECM for dependent variable ASSTAXOTHER estimate-d by OLS based on cointegrating VAR(Gj

Regressor Coefficient T-Ratio Probability
Tntercept 5208.9 2.2367 : 045
dSSTAXOTHER1 39944 1.6158 132
dCTOTAL1 012704 65474 525
dSSTAXOTHER2 0031325 011829 991
dCTOTAL2 011416 54774 594
dSSTAXOTHER3 28954 1.0755 303
dCTOTAL3 015261 72571 482
dSSTAXOTHERA 24599 88984 391
dCTOTALA 023979 1.1456 274
dSSTAXOTHERS 41960 1.4210 181
dCTOTALS -.017069 - 80666 436
eemi(-1) ~ 44500 -1.9796 071

List of additional temporary variables created:

dSSTAXOTHER = SSTAXOTHER-SSTAXOTHER(-1}

dCTOTAL1L = CTOTAL{-1}-CTOTAL(-2)
dCTOTAL? = CTOTAL(-2}CTOTAL(-3}
dCTOTAL3 = CTOTAL{-3}-CTOTAL(-4)
dCTOTAL4 = CTOTAL(-4}-CTOTAL{-5)
dCTOTALS = CTOTAL{-5)}-CTOTAL(-6)

dSSTAXOTHER1 = SSTAXOTHER{-1}-SSTAXOTHER(-2)
dSSTAXOTHER2 = SS§TAXOTHER(-2)>-SSTAXOTHER(-3)
dSSTAXOTHER3 = SSTAXOTHER(-3)-SSTAXOTHER(~4)
dSSTAXOTHER4 =~ S8TAXOTHER(-4)>-SSTAXOTHER(-5)
dSSTAXOTHERS = SSTAXOTHER(-5}-SSTAXOTHER(-6)

ecml = 1L.ODOO*SSTAXOTHER-4855E-3*CTOTAL+165.9369*Trend

w1 IMIAILNW

T ey ¥ -y -9 c'l
ATAAAANYG Vadadin1d ECM U8daumsmuaIsuanuas iy

R-Squared 54567 R-Bar-Squared 12920
8.E. of Regression 1425.6 F-stat. F(11, 12) 1.3102(.324]
Mean of Dependent Variable -240.6704 S.D. of Dependent Variable 15277
Residnal Sum of Squares 2 MMEHT Equation Log-likelihood -200.0337
Akaike Info, Criterion -212.0337 Schwarz Bayesian Criterion -219.1020
DW-statistic 1.9237 System Log-likeliliood -456.2104
Diagnostic Test
Test Statistics LM Version F Version

A: Serial Correlation

CHSQ( 4)= 4.5346[.338] F( 4, B)= .46592[.760]
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B: Functional Form CHSQ( 1)= .16130[.688] F( 1, 11)= .074431{.790]
C: Normality CHSQ( 2)= .204371.503] Not applicable
D: Heteroscedasticity CHSQ( 1)= .00-14937[.947] F( 1, 22)= .0041200[.949]

Ailagrange multiplier test of residual serial correlation

B:Ramsey's RESET fest using the square of the fitied values

C:Based on a test of skewncss and kurtosts of restduals

D:Based on the regression of squared residuals on squared fitled values

1 : 11IMIRTUIN
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aun1e IdmEndendug vesipuadipluuvannsinnnzandegluuni var

T ¥
Model dmnsiigazdriauns 19ua11y cointegrating vector Iaefinansinyidaaisisde lili

M13197 6.26 HANTSANYT cointegration test YoaMEMadasdug Nelanng

A1aSANAARYMIG143Y cointegrating vector ﬁm%’umﬁnné’aug'uq
26 observations from 2537Q1 to 2543Q2. Order of VAR = 4.
List of variables included in the cointegrating vector: OITAX ~ GDP  Trend
List of eigenvalues in descending order: 60901 24023 0.00
Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=90 r=1 24,4156 19.2200 17.1800
=1 =2 7.1431 12,3900 10.5500

Cointepration LR test based on trace of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=0 >=1 31.5587 25,7700 23.0800
r<=1 >=2 7.1431 12.3900 10.5500

HUENY) : Use the above tables to determine r (the number of cointegrating vectors)
fan : 1nnTsiIIa

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1
OITAX 3228E-3
{ -1.0000)
GDP ~4806E-6
(.0014889)
Trend -.0033428
( 10.3554)

1 IRMIMIA
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A15199 6.27 HANISANY1 error correction mechanism V24N HN1TONDYY Nelnssna

ECM for dependent variable dOITAX estimated by OL.S based on cointegrating VAR(4)

Regressor Coefficient T-Ratio Probabitity
Intercept 7041.1 2.2474 037
dOITAX1 32144 .53931 596
dGDP1 017471 1.1736 256
dOITAX2 -.092110 -.20567 ' 839
dGDP2 0060570 55698 .584
dOITAX3 -.014121 -.044839 965
dGDP3 032750 2.2498 037
ecm1(-1) -1.4636 22758 035

List of additional temporary variables created:

dOITAX = QITAX-QITAX(-1) dOITAX! = QITAX(-1)}-OITAX(-2)
dGDP1 = GDP(-1)}-GDP(-2) . dOITAX2 = OITAX(-2)-OITAX(-3)
dGDP2 = GDP{-2)-GDP(-3) GOITAX3S = QITAX(-3)}-OITAX(-4)

dGDP3 = GDP(-3}-GDP(-4)
ecm] = 1.0000*0ITAX-.0014889*GDP-10.3554*Trend

N1 IPNITAHAM

AR Va9EHn1s ECM 1a3s1Ein1adondng

R-Squared 69773 R-Bar-Squared 58019
S.E. of Regression 19923 F-stat. F( 7, 18) 5.9357[.001]
Mean of Dependent Variable 180.4615 S.D. of Dependent Variable 3074.9
Residual Sum of Squares 7. M4E+)7 Equation Log-likelikood -229.6353
Akaike Info, Criterion -237.6353 Schwarz Bayesian Criterion -242.6677
D'W-statistic 1.8543 Systemn Log-likelihood -527.5429
. Diagnostic Test

Test Statistics LM Version . F Version
A: Serial Correlation CHSQ( 4= .89734[.925] F( 4, 14)= .12511[.971]
B: Functional Form CHSQ( 1)=.0014971[.969] F( 1, 17)=_.9789E-3[.975]
C: Normality CHSQ( 2)= .97894][.613] Not applicable
D: Heteroscedasticity CHSQ( 1)= .29995{.584] F( 1, 24)= .28011[.601]}

A:Lagrange multiplier test of residual serial correlation  B:Ramsey's RESET test using the square of the fitted values
C:Based on a test of skewness and kurtosis of residuals  I'Based on the regression of squared residuals on squared fitted values

fiur : 11amsAuIn
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aunsieldouq vesipnalizduusaun wimngaufiogluuyil VAR Model hifl

Y tg o ¢ = . R & A = ar ng’
Lluiiuﬂlﬂﬁ1llﬁﬂ’lﬂﬁﬂ’lﬂﬂ‘iﬂﬂ cointegrating vector FIUHANTIANHIAIU

> = . ) . ) ey a
mM3147 6.28 ANISANI cointegration test WD OUY Yo iganiainnng

f1adANaTeUHIS1UIU cointegrating vector ﬁm“s’uﬂﬂ'is’l"é"uq

28 observations from 2536Q3 to 2543Q2. Order of VAR=2.

List of variables included in the cointegrating vector: OGREV ~ GDP  DGDP  Intercept
List of eigenvalues in descending order: .61609 32111 24663  .0000

Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=0 =1 26.8057 22.0400 19.8600
r<=1 r=2 10.8444 15.8700 13.8100

=2 =3 7.9295 9.1600 7.5300

Cointegration LR test based on trace of the stochastic matrix

Nuil Alternative Statistic 95% Critical Value 90% Critical Value
r=0 =1 45.5796 34.8700 31.9300
r<=1 =2 18.7739 20.1800 17.8800
r<=2 =3 7.9295 9.1600 7.5300

MUY 1 Use the above tables to determine r (the number of cointegrating vectors)

U 2 IINNISATUIY

Estimated cointegrating vectors, coeficients nermalized in parenthesis,

Variable Vector 1
OGREV - 4575E-4
( -1.0000)

GDP 1470E-5
( .032121)

DGDP -.010612
(-231.9390)

Intercept 37683
( 8236.2)

i . MIAMTAIUIN
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M15197 6.29 HAN1FANYI error correction mechamsism YoaNgIddUY vaeiganylnsua

ECM for dependent variable dOGREV estimated by QLS based en coinfegrating VAR(2)

Regressor Coefficient T-Ratio ‘ Probability
dOGREV1 .19367 89119 382
dGDP1 -.062254 -1.8972 - 070
dDGDP1 59.1027 078115 / 938
ecm1(-1) -1.5842 -4.6957 . .000

List of additionaf temporary variables created:
dOGREV = OGREV-OGREV(-1)
dGDP1 =GDP(-1}-GDP(-2)

dOGREV1 = OGREV(-1}-OGREV(-2)
dDGDP1 = DGDP(-1}-DGDP(-2)

ecrat = 1L.OOODO*OGREV -032121*GDP +231.9390*DGDP -8236.2

w7 : nnsdinm

AaaAA19q vesaun1s ECM veanaldeug

R-8quared 69297
S.E. of Regression 7373.9
Mean of Dependent Variable 216.9286
Residual Sum of Squares © 1.30E+09
Akaike Info. Criterion -290.9320
DW-statistic 22434

R-Bar-Squared 65459
F-stat. F( 3, 24) 18.0559].G600]
8.D. of Dependent Variable 12546.7
Equation Log-likelihood -286.9320
Schwarz Bayesian Criterion -293.5964
System Log-likelihood -675.3004

Diagnostic Test

Test Statistics 1M Version F Version
A:Serial Correlation CHSQ( 4= 7.4321[.115] F( 4, 20)= 1.8067].167]
B:Functional Form CHSQ({ 1)= 1.6552{.198] F( 1, 23)= 1.4450[.242]
C:Normality CHSQ( 2)= .25606[.880] Not applicable
D;Heteroscedasticity CHSQ( 1= 2,1359[,144] F( 1, 26)= 2.1472[.155]

A:Lagrange mulliplier test of residual senal correlation

B:Ramsey's RESET test using the square of the fitted values

C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values

fiur: MAsAIN
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aunsgauenalszyesgafizlpuuaunsimnzaai 1 lumsAnnfe gy
P r) ' d £ A < ar ' 4:
YU VAR Model fimwizainsd dsfinantsfinudearside luil

ma1afl 6.30 HAN15ANY cointegration test YoIgaANRNIUYszINRTIE INTING

A1aOANATBURIIIUIN cointegrating vector 1nTugatanauilszana
25 observations from 2537Q2 to 2543Q2. Order of VAR = 5.
List of variables included in the cointegrating vector: NBUD  GDP  DGDP
List of eigenvalues in descending order: .68518 34485 11536
Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alfernative Stafistic 95% Critical Value  90% Critical Value
r=0 =1 28.8937 21.1200 19.0200
r<=1 =2 105722 14.8800 12.9800

=2 =3 3.0644 8.0700 6.5000

Cointegration LR test based on trace of the stochastic matrix

Nult Alternative Statistic 95% Critical Value 90% Critical Value
r=0 r>=1 42,5303 31.5400 28.7800
r<=1 >=2 13.6366 17.8600 15.7500
<=2 =3 3.0644 8.0700 6.5000

HUWIHE) : Use the above tables to determine r (the number of cointegrating vectors)

7 PINMSAUI

Estimated cointegrating vectors, coefficients normalized in parenthesis.

Variable Vector 1
NBUD - 1387E-3
( ~1.0000)
GDP .6366E-5
( .045884)
DGDP -.13928
( -1003.9)

A1 : IDAITAIMIN
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M1519# 6.31 HAN13ANY error correction mechanism Yoauensvlszinandlasng

ECM for dependent variable ANBUD estimated by OLS based on cointegrasting VAR(S)

Regressor Coefficient T-Ratio Probability
Intercept 94675.8 2.6844 021
dNBUD1 36284 85076 413
dGDP1 -.076831 -1.3590 20
dDGDF1 16848 2.5916 025
dNBUD2 -.067452 -.19395 .850
dGnp2 -13502 -2.9730 013
dDGDP2 626.5812 76973 458
dNBUD3 -058671 -.226%0 825
dGDP3 -.10242 -1.9573 076
dDGDP3 1230.1 1.8938 .085
dNBUD4 -.25475 -1.1524 274
dGDP4 -.063665 -1.1143 289
dDGDP4 1312.8 1.7021 A7
ecml(-1) -1.7006 -2.7850 .018

Listof additional temporary variables created:

dNBUD = NBUD-NBUBX{-1}
dGDP1 = GDP{-1)}-GDP(-2)
dNBUD2 = NBUD{-2}-NBUDX-3)
dDGDP2 = DGDP(-2)-DGDI(-3)
dGDP3 = GDP(-3}-GDP(-4}
dNBUD4 = NBUD{-4)-NBUD{(-5)
dDGDP4 = DGDR(-4)-DGDP(-5)

ec] = LOOOO*NBUD-.043884*+GDP+1003.9¥DGDP

1 1M

A1a8An 199 weITNN1s ECM vasgausnamnlszana

dNBUDI1 = NBUD(-1)}NBUD{-2)
dDGDP1 = DGDP(-1}-DGDP(-2)
dGDP2 = GDP(-2)-GDF{-3)
dNBUD3 = NBUDX-3)-NBUD(-4)

dDGDP3 = DGDP(-3)-DGDP(-4)
dGDP4 = GDP(-4)-GDP(-5)

R-Squared

S.E. of Regression

Mean of Dependent Variable
Residual Sum of Squares
Akaike Info. Criterion

DW-statistic

.88968
4401.0
-212.8000
2. 13E+08
-24R.9511
21778

R-Bar-Squared

F-stat. F(13, 11)

8.D. of Dependent Variable
Equation Log-likelihood
Schwarz Bayesian Criterion

System Log-likelihood

75930
6.8239[.002]
8970.6
-234.9511
-257.4832
-558.3367

<
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Diagnostic Test

Test Statistics 1M Version F Version
A: Serial Correlation CHSQ( 4= 9.6929[.046] F( 4, 7= 1.1081[.423]
B: Functional Form CHSQ( 1)= .013875[.906] F( 1, 10)=.0055530[.942]
C: Normality CHSQ( 2)= 35.67431.000] Not applicable
D: Heteroscedasticity CHSQ( D= .43047[.512] F( 1, 23)= .40297[.532]

Alagrange multiplier test of residual serial correlation

B:Ramsey's RESET test using the square of the fitted values

C:Based on a test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values

1 ; PINMTAIUIDL

PINAIAAA max test UAZ trace test Wuh@uMTgausmuliznuiiiuau
. . [ ) & v w o A
cointegrating vector (NALVILY sazranslsznumaumsamduRufiFgaonnezers
] =t o o -~ow o aﬁallI 9 =
wudgauensulszinafinnudntuifusdadusiuaoraumelulssmaiesauluiinna
o < 4 a o & & & . o 3
@nfu  ufediamsygiimedafisdiunilan i igouensudssinunlanunlas
P 3 v ar Qs qs a W a  ow
i 0045884 Mg tazaauenanlmnuidiawdniuitudyiindadusiuiasaung
14 H
Tuslszmmiissduluianeaseiudae Tasiinasirliaauenswlszananfasuulasanas
1 ar ~y s 3y H A‘ 3 é t
10039  wmilgmndriinaadustnasmeludszmadssdundoumlagRuiuniianie
3 & o L.V 7 3 & Y L] [] e ar o
s ehnsmaunsnsdudaluszesdu  Famuddanlsdaulng lilldeddgma
a8d ndfiefinisana R Affdwiiiy 0.88 uemedtaunsdsnfianmamisolunisesuela

] oW @ o $ = = @ oo e
ADUATA mwﬂ:nmrmﬁaiumsﬂ‘mmmqﬁnﬂﬂm‘luizﬂzmmmmm‘lumsﬂmmm

(]
QA4

faa lunsdfudfidinegrenin 0 8 2 Awaaslumsei 631 dausadAvesns

L= I

111 simulation 1A1IRABIAT Theil’s inequality coefficient WU 0.1542
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aumsitugawlulszmsgmivesigunafigluuvannsfimnsasfegluyni VAR

=¥ 21 5w 9 . . & o < o dw
Model fimasiuazdfauurTdunaily cointegra€ing vector HIUNANTIANHIAIU

M99fl 6.32 HaMTANN cointegration test voaR uimeluszmagnvesigna

sielasine

ATBANATE UWISINIU cointegrating vector chniuidngmallszmagnivesiga
27 ohservations from 2536Q4 to 2543Q2. Order of VAR = 3, chosen r=1.
List of variables included in the cointegrating vector: GNDB  GNFB NDG  GREV  Trend
List of eigenvalues in descending order: .72228 60497 34590 .16898 (.00
Cointegration LR test based on maximal eigenvaiue of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=0 r=1 34.5908 31.7900 29.1300

=] r=2 250775 25.4200 23,1000
r<=2 =3 11.4612 19.2200 17.1800
r<=3 r=4 4.9979 12.3900 10.5500

Cointegration LR test based on trace of the sfochastic matrix

Null Alternative Statistic 95% Critical Value 90% Critical Value
r=0 =1 76.1274 63.0000 59.1600
r<=1 >=2 41,5365 42.3400 39.3400
r<=2 >=3 16.4550 25,7700 23.0800
<=3 =4 49979 12,3900 10.5500

HNWLYiE) : Use the above tables to determine r (the number of cointegrating vectors)

1 MINAMTRINIR

Estimated cointegrating vectors, coefficients normalized in parenthesis,

Variable Vector 1
GNDB -.3194E-4
{ -1.0000)
GNFB 9524E-4
( 2.9821)
NDG \2240F-5

( .070152)



GREV 3202E-5
( .10026)

Trend 010760
(336.9388)

N : MIAMISAMIUIN
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@15191 633 NAMSANY error correction mechanism vaudufmelulszmeagnBvesgua

silnsna

ECM for dependent variable dGNDB estimated by OLS based on cointegrating VAR(3)

Regressor Coefficient T-Ratio Probability
Intercept -14015.1 -4.7472 000
dGNDB1 74519 4.9335 000
dGNFB1 -1.6634 -1.5916 130
dNDG1 -.14275 -2.5879 019
dGREV1 -.092959 -1.4562 64
dGNDB2 26723 2.4892 023
dGINFB2 -40441 -.68673 502
dNDG2 -.10706 -2.1929 .043
dGREV2 -.051646 -.81585 426
ecrml(-1} -1.8491 -5.8737 .000

List of additional temporary variables created:
dGNDB = GNDB-GNDB(-1)

dGNFB1 = GNFB(-1)-GNFB(-2)

dGREV1 = GREV{-1}-GREV(-2)

dGNFB2 = GNFB(-2)}-GNFB(-3)

dGREV2 = GREV(-2)-GREV(-3)

dGNDBI1 = GNDB(-1)-GNDB(-2)
dNDG1 = NDG(-1)-NDG(-2)
dGNDB2 = GNDB(-2)-GNDB(-3)
ENDG2 = NDG(-2)-NDG(-3)

ecrl = LOODOGNDB-2.9821 *GNFB-.070152*NDG-.10026*GREV-336.9388* Trend

i1 : 1INAFATUIRL

AaAs19q vesaums ECM vesdufmahnlszmagniusaigua

R-Squared 98121
S.E. of Regression 9857.4
Mear of Dependent Variable 948.3333
Residual Sum of Squares 1.65E+(9
Akaike Info. Criterion -290.3573
DW-statistic 1.9777

R-Bar-Squared
F-stat. F( 9, 17)

S.D. of Dependent Variable
Equation Log-likelikood
Schwarz Bayestan Criterion

System Log-likelihood

97126
98.6191[.000]
581430
-280.3573
-296.8365
-1180.4
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Diagnostic Test
Test Statistics LM Version F Version
A: Serial Correlation CHSQ( 4)= 3.3396[.503] F( 4, 13)= .45873[.765]
B: Functional Form CHSQ( 1)= 3.74131.053] F( 1, 16)= 2.5737[.128]
C: Normality CHSQ( 2)= 10.0337[.007] Not applicable
D: Heteroscedasticity CHSQ( 1= .021697[.883] F( 1, 25)= .020106[.888]

A:Lagrange multiplier test of residual serial correlation

B:Ramsey's RESET test using the square of the fitted values

C:Based on & test of skewness and kurtosis of residuals

D:Based on the regression of squared residuals on squared fitted values

an - 1innsAal

W
mamsAnmaumsfudnolulsemeveSguagninndwieeada max test uay
o . . oo r_zl 4 a [
trace test UTAITIUIU  cointegrating vector HNNUWIN WeviimsUrEanamauns
A i o/ = Ad' [ ar 1 t;J
cointegration WudunSasnaneniidulyzdnti lvesdunlsnndigadesmuaunfgn: Hu
s s - 4 3 & T o < -
fAedleigunadimsflusindialsemagmitdiiunitanie faumeediumelulssmegns
‘; J 1 T o = | ar 1t H i
i 2.9821 mbsuaasliiuhigunezffumelulszmagnitudadaufiinafiqgaen
£ =, 3 1 L) 4 ¥ as - ‘; J é L o ar _
adlugninamun dauns dudeuniginaqniifistunifonizessi s ginadiu
a4 & y 4 o 2 & 2
molulszmagmBtiudiu 0.070152 s sazmsafisumlasielRvessyuramuduuils
L] o =y 1 = -ﬂ' 3 1 3 g
el flunndalsemegnidintu 0.10026 wizeveiidunaumny Teuty
ar .Y 3 & q L :ri = ana{d 3 & ar
AARNVRITIUTE DInTuvehMsdsznuaATaums ECM Fsiimanadanmivdesauls
a Adl e o e oA & o oy oA . = ' o SdA o z
ansyIiusd ngyuRIEBIiuRd 1B 95% unzArdavssaunsegluszAuRadieiia R
¥
Wiy 0.98 533via laifiileyy serial correlation 1A% heteroscedasticity @aUUIAVBINITLSLRY
4 v U o | §
egaasnmluszezenannseg o manand  lunsyfudafiuaaslumaed 6.3
dwiunan1591 simulation 1HHan1saBAGIN WA 6.16 195UAN Theil’s inequality coefficient 3

AUNMU 0.0723
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aumsFudintssmagnivessguralipduuvaunmsimanzaudeoguuudi. - VAR

) ¥
Model liifinua Tdunawdsiiaamsilu cointegrating vector Inafinamsnyidsil

151911 6.34 MAN1ANY cointegration test a3l uGehadsvmagnivesiginanalnsing

AradAnaaaums1uIu cointegrating vector frniudugendszmagmsvssigua

26 observations from 25370Q1 to 2543Q2. Order of VAR =4, chosenr =2.

List of varigbles included in the cointegrating vector: GNFB
List of eigenvalues in descending order: .78670

.56209

45504

GNDB

NDG GREYV  Infercept
12780 0.00

Cointegration LR test based on maximal eigenvalue of the stochastic matrix

Null Alternative Statistic 95% Critical Value 90% Ceritical Value
r=0 r=1 40.1718 28,2700 25.8000
<=1 r=2 21.4691 22.0400 19.8600
r<=2 =3 15.7833 15.8700 13.8100
<=3 =4 3.5553 9.1600 7.5300
Cointegration LR test based on trace of the stochastic matrix
Null Alternative Statistic 95% Critieal Value 90% Critical Value
r=0 >=] 80.9795 53.4800 49.9500
<=1 =2 40.8077 34.8700 31.9300
<=2 =3 19.3386 20.1800 17.8800
r<=3 >=4 3.5553 9.1600 7.5300

HU1ITi - Use the above tables to determine r (the number of cointegrating vectors)

1 9ImsAUIw

Estimated cointegrating vectors, ceefficients normalized in parenthesis.

Variable Vector 1 Vector 2
GNFB 2621E-4 A087E-4
( -1.0000) ( -1.0000)
GNDB -.2216E-4 1356E-4
( .B4552) ( -33184)
NDG W6230E-5 - 2608E-5
( -.23772) { .063822)
GREV 1867E-4 - 3794E-5
( -.71246) ( .092836)
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Intercept -2.2493 10311
( 85830.3) ( -2523.0)

i msfuas

3197 6.35 NAN15AAMI error correction mechanism VBIRUGeaszmaAgNnBve 3

swe'lasina

ECM for dependent variable dGNFB estimated by OLS based on cointegrating VAR(4)

Regressor Coefficient T-Ratio Prob
dGNFB1 -1,7834 -4.9041 000
dGNDB1 - .67321 4.0004 .002
dNDGI -.20319 -3.8877 002
dGREV1 - 41771 -3.5175 .004
dGNFB2 -1.5511 -2.6215 022
dGNDB2 .33898 2.4951 028
dNDG2 -.10301 -1.8525 089
dGREV2 -.25924 -3.1807 008
dGINFB3 -.51255 -.92938 371
dGNDB3 .073961 .80105 439
dNDG3 -.19528 -4.0892 .002
dGREV3 -12197 -1.4010 187
ecml(-1) 80979 4.8473 .000
ecm2(-1) -.68969 -2.6474 .021
List of additional temporary variables created:
dGNFB = GNFB-GNFB{-1) dGNFBI1 = GNFB(-1)}-GNFB(-2)
dGNDB1 = GNDB(-1 -GNDB(-2} dNDG1 =NDG{-1}-NDG(-2)
AdGREV1 = GREV(-1}-GREV(-2) AGNFB2 = GNFB(-2)-GNFB(-3)
dGNDB2 = GNDE(-2)-GNDB(-3) dNDG2 = NDG(-2)}-NDG(-3)
dGREV?2 = GREV(-2}-GREV(-3) JGNFB3 = GNFB(-3)-GNFB(-4)
dGNDB3 = GNDB(-3)-GNDB(-4) dNDG3 = NDG(-3)-NDG(-4)

dGREV3 = GREV(-3)}-GREV(-4)
ecml = LOOOO*GNFB-.84552*GNDB+.23772*NDG+.71246*GREV-85830.3
ecm? = 1,OOOO*GNFB+.33184*GNDB-.063822*NDG-.092836*GREV+2523.0

41 : 9INNTIAILIN
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Mg vesauns ECM vaudujdintsumagnsvesigine

R-8quared 92283 R-Bar-Squared 83922
S.E. of Regression 6374.8 F-stat. F(13, 12) 11.0381{.000]
Mean of Dependent Variable 46.1538 S.D. of Dependent Variable 15898.6
Residual Sum of Squares 4.88E+H08 Equation Log-likelihood -254.6039
Akaike Info. Criterion -268.6039 Schwarz Bayesian Criterion -277.4106
DW-statistic 1.7378 System Log-likelihood ~1108.2
Diagnostic Test
Test Statistics LM Version F Version

A: Serial Correlation CHSQ( 4= 7.6637[.105] F( 4, 8)= .83591[.539]
B: Functional Form CHSQ( 1)= 5.8890[.015] F( 1, 11)= 3.2211[.100]
C: Normality CHSQ( 2)= .49%471[.781] Not applicable

D: Heteroscedasticity CHSQ( 1= .12676[.722] F( 1, 2= .11758{.735]

A:Lagrange multiplier test of residual serial correlation

B:Ramsey’s RESET test using the square of the fiited values

C:Based on a fest of skewness and kurtosis of residuals

D:Rased on the segression of squared residuals on squared fitted values

- IR

MNFAEDANATIUNISIUIU cointegrating vector WUIIAIIOA max test THHATIUIU

comtegrating vector mﬁ’wﬁwmzﬁﬁmﬁﬁ trace test IMASIUIU coinfegrating vector i
asq yaiafin s nmadedieg fimuae'ldwud 3§19 cointegrating vector HAVTBS
cointegrating  vector uﬁ’mz‘lﬁwaﬁﬁﬂdwﬁ'uﬁmﬂ?awmﬂwﬁ'ﬁuﬂszf‘?ﬂ%“ﬂlmﬁhuﬂsgnﬁ’m
MUTUHATIU ﬁ'uﬁasﬁamsﬁﬁun16“1mJs::maq*n%ﬁmmﬁ'xﬁuﬁ%‘luﬁﬁmmﬁﬂ'sﬁ’mmzﬁﬁ
mearadmiuns§lunnddssmagnimazhaunsanamunieldiuiu dd ey
fuulenevessgua daumslffudenelulsumaquiduitnoufsmensnduiuive
ludismafisafunazfianeas mimﬁtnﬁ’uans‘m‘lé's*ﬁ‘umﬁﬁmmﬁuﬁuﬁ'ﬁﬂuﬁﬁmN
Roafunazfientasety Feuevemansznudifidents§lunndrlsemegniannsog
nnsdnlszAnEIu cointegrating vector dmiuaumemziugauszor Fufitlszanua
18 dulsdauluglivieddgmeadd sazaunislinrwaunseluaseiiieglddfedisn R’
sy 092 marudrlumsiliudaitedigaaonmiuszezmraunsag 18 luased 635
daunaueInIsn simulation IdkanIIREINTN WaTdeRv T I InmaaAA 1S U @

Theil’s inequality coefficient $3iA1 0.2046 dsuaaglunnd 6.17
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3t 1 ® *

asfnymuriasszezduiiddeyasie lasnmuiimiassnaniianiesduuas

o BitiarwduiuiiFaonmluszezondunsus Inaluniansandasasioms
1 3 ] 3 > T

iA50eRN ogqu Fae uazitewainig dniudyl&dhnslsanumsmiasswailiaduq 16
z 1 Qs 1 ! Qs or ~
FuegiumsuiIaavauuny  neslrngifinowdiufifegoonmivszezen Taowams
= o g Errs @ o & ¥ a
dnynnanuduiuiiFgasnmilussezsninaneanuduiuiignasiamauuagy

Ed » t 4
uavannsaesing' i samenmlfudalussesduvewdazaumeagy 1ddede Tl

msldievessguna (@) TawdniuiiFmasamiuszozendundadusiuiagiy
molulszmeniiosdu (Gpp) Tufiemefondu seldvesiguna (GREV) uasdyiinarda
Sashnarumelulizmadesdy (DGDP) salusamafoafunasfiensassty daums
ﬂ%’uﬁ’ﬂuszﬂzguxﬁﬂz%@aﬂmw‘luszazﬂnﬁﬁ'wia‘lﬂf':

d(G)=.48116*d(G(-1))-.34608*d(GDP(-1))-.55249*d(GREV(-1))-1556.7*d(DGDP(-
D}+-33582+d(G(2))-12709*d(GDP())- 13205*(GREV(2))+187.8304*d(DGDP(-2))+043683*d(G(-
3))H+013899*d(GDP(-3))-.56963*d(GREV(-3))-4677.5*d(DGDP(-3))-.80438*(G(-1)-.074304*GDP(-1)-
.21611*GREV(-1)-767.4404*DGDP(-1))-.40386*(G(-1)-.40250*GDP(-1)-.086812*GRE V(-
142416 6*DGDP(-1)) 068429%(G(- 1) 39490*GDP(-1)+.96149*GREV(~1)+682.546 7*DGDP(-1))

minuase OTAX) fnruduiuiiFmaonmlussezenfundadiusiuaasiunely
szmadiosdi GDP) ufimma@ivadin ua::ﬁﬂﬁﬂ%'uﬁ"ﬂuizﬂzt’%usﬁaz%tjaaemm“luizﬂz
ﬂnﬁ'wiﬂ"lﬂf‘:

d(DTAX)=51318.6+1.3717*D(DTAX(-1))-.33059*D(GDP(-1))+1.2403*D(DTAX(-2))-
14893*D(GDP(-2)}+1.2993*D(DTAX(-3)}-20090*D(GDP(-3))+2.6527*D(DTAX(-4))- 2728 7*D(GDP
(-4))+1.2379*D(DTAX(-5))+.093832*D(GDP(-5))+1.5126*D(DTAX(-6))+.11709*D(GDP(- |
6)H.75463*D(DTAX(-DHH-074730*D(GDP(-7))-1.5947*(DTAX(-1)-.028107*GDP(-1))

adiRu ldyeaatssua PITAX) favwduiuiFgaonmiuszezeniuseldday
yana (PT) Tudiemadeaiy uazﬁmsﬂ%’uﬁﬂuizﬂzﬁ"’u;ﬁmﬂi"ﬁdqaanm“lmzﬂzﬂnﬁ'ﬂf

d(PITAX)=1.4302*d(PITAX(-1))-.0061 100*d(PI(- 15)+2. 1981*d(PITAX(-2))+.061070%d(P1(-
2H2.7075*A(PITAX(-3)H+.035957*d(PI(-3)1+3 4273*d(PTTAX(-4))-13915*d(PI(-4))+2.5339*d(PITAX
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(-5))-.16975*d(PI(-5))+2.5180*d(PITAX(-6))-.27509* d(PI(-6)+2.1405*d(PITAX(-7))-.36055*d(PI(-
TH.81419*d(PITAX(-8))-.19267*d(PI(-R))-1.2779*( PICAX(-1)-.10292*PI(-1)+48864.3)

ywlddauynna (P) ﬁmmﬁnﬁuﬁﬁaqaﬂn1w‘luisazﬂ1aﬁuﬂﬁﬁﬁmﬁuuas*mmﬂ
Lulszmeadodu GDP) lufiemadmiu uazﬁmsﬂ%’uﬁ'ﬂmzﬂzﬁ”’mﬁm%tjqﬂamw‘lu
szozended

d(PD)=-25.8896*d(PI(-1))+16.4813*d(GDP(-1))+20.7513*d(PI1(-2))-14.8126*d(GDP(-2))-
6.2777*A(PI(-3))+3.6579*d(GDP(-3))-5.56 70*d(PI(-4))+4.1215*d(GDP(-4))-14.7945*d(PI(-
5)}H10.5045*d(GDP(-5)}+5.4200*d(PL(-6))-4.1994*d(GDP(-6))-4.1273*d(PI(-T)}+3.3342*d(GDP(-7))-
5.0302*d(PI(-8))+3.6098*d(GDP(-8))-.31208*(P1(- 1)-3.7702*GDP(-1)+3326239)+3.4390*(PI(-1)-
70265+ GDP(-1)+41089.1)

aiiSuldiAyana (CITAX) HranduiuiiFmasnmluszezenduilsvesgsie
(PF) lufisn sy uazﬁﬂ151]%’ué‘:’z‘luszﬂzgusﬁeaﬁ1daaﬂn1w1ui:ﬂzmaﬁqfr

JHCITAX)=-.56242*d(CITAX(-1))+-23069*d(PF(-1))-1.4843*d(CITAX(-2)H.58244*d(PF(-2))-
1.6368*d(CITAX(3)}+26282*d(PF(-3))-1.2316*d(CIT AX(-4)}+.2456 3*d(PF(-4))-1.331 T*d(CITAX(-
5)H+20910d(PF(-5) 5261 24d(CITAX (-6 31875*d(PF(-6)- 46991 *d(CITAX (7)) 1294 7#d(PF(-7))-
39346*(CITAX(-1)-47719*PF(-1)}

ﬁflwmqsﬁ% (PF) ﬁmmﬁnﬁuﬁﬁmaan1w‘1us:azanﬁnwﬁﬁﬁmqumasmmﬂ‘lu
lsemeiiioadu (Gbp) TuirmauRsafiu uagd: AsIABAEERY fj“ﬁﬂuﬁﬁﬂ 19REINHUAZ TR
LATEEALR fhum'iﬂ%’né'ﬂuizﬂz§u1ﬁ81ﬁ1§qa snmluszozeniifeneluil

d(PF)=-1.0904*d(PF(-1))+.21625*d(GDP(-1))-194.9438*d(IMLR(-1)}-.54468*d(PF(-
DH097307*HGDP(-2))-8167.9*d(IMLR(-2))+.086343*d(PF(-3))+.096371*d(GDP(-3))-6288.9*d
(IMLR(-3))+.020847*d(PF(-4))+.18011*d(GDP(-4)H8817.6*d(IMLR(-4))-.1 7941 *(PF(-1 }+.258 79*GDP
(-1)+21749.4*IMLR(-1)-544251.3)-.021886*(PF(-1)-.16685*GDP(~1)+4801.6 *IMLR(-
1H36268.6+.13201 *(PF(-1)-.17309*GDP(-1)- 1 7787.9*IMLR(- 1+ 370487 4)
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aiimeden (TAX) damdiwufiFeaenmlussezonfuniaiusivinsaunme
luilszmmilesdu (GoP) lufismufisadu wozdmaliudluss zé”mﬁn’fﬁjﬁaﬂmwiu
szozondet

d(TAX)=052140*d0TAX(-D)+2201 0*d(GDP(-1))- 43164*d(TAX(2))+15354*d(GDP(-2))-
1.3229*d(ITAX(3)H+31540%d(GDP(-3))-1.5045*d(ITAX(-4))+31837*d(GDP(-4))-1.1251*d(ITAX(-
5)H-13489*d(GDP(-5))-12549*d(ITAX(-6))+13377*(GDP(-6))-.81818*d(ITAX(-7))-.069090*d(GDP
(7)) 48743*(ITAX(-1)-075710*GDP(-1))

arihiudh MTAX) SrnudiniufiFmasnmlussezamtuyadminsiwi av) 1u
Frmadoafu uasinsiuda e duiedhgaaonmiuse sz lulil

dIMTAX)=.071 TT24d(IMTAX(-1))-.004931 9*d(IM(-1)}+.24893*d(IMTAX(-2))-.01099%*d
(IM(-2))+21442%d(IMTAX(-3)}+.0057359*d(IM(-3))+.52150*d(IMTA X(-4))-.00421 26 *d(IM(-4))-
19301*(IMTAX(-1)+-083714*IM(-1)-61703.51+013071 *(IMTAX(-1)-025462*IM(-1)+667.0538)

miflyeduiy  (vAT)  Smwduiufifegaenmiuszesentunsuiiansay
(CTOTAL) lusiemaeanu daunrsdsudaluse ﬂ$§u£ﬁ61%1q!ﬂﬁUﬂ1ﬂ1ui$ﬂzﬂ13ﬁﬁﬂﬁ

d(VAT)=1.0224*d(VAT(-1))-.0020289*d(CTOTAL(-1))+.51392*d(VAT(-2))-.26168*d
(CTOTAL(-2)}+73715*d(VAT(3))-.17616*d(CTOTAL(-3)1+48450+d(VAT(-4)}+.018546*d(CTOTAL
(-4))+.64161*A(VAT(-5))-.067117*d(CTOTAL(-5))+.98249*d(VAT(-6)}+.21473*d(CTOTAL(-
6)1+51426%d(VAT(-7)}+.11970*d(CTOTAL(-7))-1.7545*(VAT(-1-052713*CTOTAL(-1))

o @ qr o m s X
miasneniia  (SSTAX) fanwdwiuiisegaenwluszezendunisuiianiy

b 4 »
(cToTAL) lufiemaReaiy uoziinsliuda luszozsduiothgaaonmiuszezendede iy

¥
=t

U

d(SSTAX)=55598.4+2.1207*d(SSTAX(-1))-.031883*d(CTOTAL(-1))}+.54790*d(SSTAX (-
2DH.060976*d(CTOTAL(-2))+.083062*d(SSTAX(-3))+.11404*d(CTOTAL(-3))-1.1113*d(SSTAX(~
HH21728*d(CTOTAL(-4))-.44020%d(SSTAX(-5))+.23648*d(CTOTALA-5))-.87414*d(SSTAX(-
6))+.18057*d(CTOTALL-6))-.2736 1 *d(SSTAX(-7))+.13 849*d(CTOTAL(-7))-.74086*d(SSTAX(—
8N+.10479*d(CTOTAL(-8))-2.5617*(SSTAX(-1)-.027060*CTOTAL(-1))-1.1614*(SSTAX(-1)-
035786*CTOTAL(-1)) |
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mBasswadminy  (SSTAXFL)  Davwdiniufifgaonmivszezondums
WS Tnalumnansvuds msiusnududl uaznsdoms (CTRASNS) lufirmadoafiu
fimmsﬂ%’uﬁ’a”l'us:ﬂ:ﬁy'wﬁmﬂnqunmluszﬂxﬂnﬁﬁ'aﬁ'e‘lﬂﬁ

A(SSTAXFL)=87603*d(SSTAXFL(-1))-72705*d(CTRANSP(- ))+49533*(SSTAXFL(-2)) -
A0943*d(CTRANSP(-2)}+.73169*d(SSTAXFL(-3))-27 527*d(CTRANSP(-3))}+.53532*d(SSTAXFLA-
4))-24876*(CTRANSP(-4))}+1.1750%d(SSTAXFL(-5))-.22195*d(CTRANSP(-5))+.74488*d(SSTAXFL
(-6))-.38057*d(CTRANSP(-6))+1.531 I*d(SSTAXFL(-7))-.33618*d(CTRANSP(-7)}+1.1423*d
(SSTAXFL(-8))-.43392*d(CTRANSP(-8))-.90746*(SSTAXFL(-1)-.43096*CTRANSP(-1)+7019.4)-
60505*(SSTAXFL(-1)-55053*CTRANSP(-1+9778.0)

nTiasswaiiadug (SSTAXOTHER) simywduniufifaaasnmluszozenduns
15 Inasau (CTOTAL) ufismufeafiu thun1ﬁﬂ¥uﬁa1us:az§usﬁﬂﬁ1gﬁqaﬂmw‘luisaz
smaidedt

d(SSTAXOTHER)=5208.9+.39944*d(SS TAXOTHER(-1))+.012704*d(CTOTAL(-1))
+.0031325*d(SSTAXOTHER(-2))+.011416*d(C TOTAL(-2))+.28954*d(SSTAXOTHER(-3))
+015261*d(CTOTAL(-3))+.24599*d(SSTAXOTHER(-4)+.023979*d(CTOTAL(-4))+.41960*d
(SSTAXOTHER(-5))-017069*d(CTOTAL(-5))-44500*(SSTAXOTHER(-1)-4855E-3*CTOTAL(-1)
+165.9369*Trend)

arimedeudun (OITAX) fnnwudiiufiFaqasnmluszezsnfuniaiusiuoas
melulsemeidesdu (GDP) Tufiemafiaiu u.azﬁmfsﬁ%‘uﬁ’ﬂuizazt%usﬁmﬁnjﬂnafJmw
Tuszovendail

d(OITAX)=7041.1+.32144*d(OITAX(-1)}+.017471*d(GDP(-1))-.092110*d(OITAX(-2))
+.0060570*d(GDP(-2))-.014121*d(OITAX(-3))+.032750*d(GDP(-3))-1.4636*(OI TAX(-1)-
0014889*GDP(-1)-10.3554*Trend)

sw'lddug wesigna (OGREV) fimawduiufFegaenmluszezennfudunda

o
fastanasiumelulsumaiiesdu (GpP) TudemaReIny uazdwiismkAnfusiuInIIN
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molutlsemaiiosdu (OGDP) Tudsmeassdu ’fhuﬂ'l‘i‘]ﬁ‘].lﬁ”ﬂ‘u‘j5ﬂ$§ulﬁﬂl%1ijﬂﬁﬂﬂ1w
Tuszozoniidedi

d(OGREV)=.19367*d(OGREV(-1))-.062254* d(GDP(-1))+59.1027*d(DGDP(-1))-1.5842*
(OGREV(-1)-032121*GDP(-1)+231.9390*DGDP(-1)-8236.2)

A o e & o = oa o
ﬂﬁuamuﬂizmm (NBUD) nmmﬁuwuﬁzmqﬁﬂm‘w‘luszﬂzﬂnnuﬂaﬁﬂmmmﬂ
tg qf = = a’ LT | - o

samslutlsemadisdu (GDP) luismuRerou  wazAviismwdaiudiasunelu

' o v
tszmaiiosdu (OGDP) lufimmaseiw  drunsdiudluszezdudodngqaonmily
srgzoniingde il

d(NBUD)=94675.8+.36284*d(NBUD(-1))-.07683 1 *d(GDP(-1))+1684.8*d(DGDP(-1))-
067452+ d(NBUD(-2))-.13502*d(GDP(-2))}+626.5812*A(DGDP(-2))-.058671*d(NBUD(-3))-.10242*d
(GDP(-3))+1230.1*d(DGDP(-3))-.25475*d(NBUD(-4})-.063665*d(GDP(-4))+1312.8*d(DGDP(-4))-
1.7006*(NBUD(-1)-.045884*GDP(-1)+1003.9*DGDP(-1))

ngRumslutlszmagnivesigua (GNDB) fnmduiufiFigaenmluszezon
funsfRuandalsemagnivesisun (GNFB) uaznsIddwdesgumgmi (\DG) uas
510 ldvesiguia (GREV) ludismudsaiu fhumsﬂ%’uﬁ'ﬂmxﬂxﬁfmﬁw’l"ﬁjﬁaﬂﬂm‘lu
syozamilidedt

d(GNDB)=-14015.1+.74519*d(GNDB(-1))-1.6634*d(GNFB(-1))-.14275*d(NDG(-1))-
092959*d(GREV(-1))+.26723*d(GNDB(-2))-.40441*d(GNFB(-2))-.10706 *d(NDG(-2))-.051646*d
(GREV(-2))-1.8491*(GNDB(-1)-2.9821 *GNFB(-1)-.0701 52*NDG(-1)-, 10026 *GREV (-1)-
336.9388*Trend)

msfiudralsemagnivesisuia (GNFB) dnrwduiusifegasnmluszevenaiu
msdRumelulsemaqnivesiguna GNDB) mis IWAudeunsguagms (NDG) Tufinms
assin uazs1edvesiguna (GREV) selufiTmaioafuosfiemeased daunsiliuds
1uizaz§u1ﬁazﬁwtjﬁaﬂn1w‘1uixﬂzﬂnﬁﬁaﬁ

A(GNFB)=1.7834*d(GNFB(-)+6 7321 *(GNDB(1))- 20319*&(NDG(-)}-41 771 *d(GREV(-
1))-1.5511*d(GNFB(-2))+33898*d(GNDB(-2))-.10301 *d(NDG(-2))~.25924*d(GREV(-2))- 51255*d
(GNFB(-3)}+.073961*d(GNDB(-3))-.19528*d(NDG(-3))-.12197*d(GREV(-3)}+.80979*(GNFB(-1)-
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B4552%GNDB(-1)H+23772¥NDG(-1}+.71246*GREV(-1 )-85830.3)-.68969*(GNFB(-1)+.331 84*GNDB(-
1)-.063822*NDG(-1)-.092836*GREV(-1+2523.0)

¥ - b4
aAnuuuiesmsswtivazse lasuranuhaunsmsdiudi lussesdu uazaa
o
M3 simulation  auAATUSUM luszezduvewwesneldiulug  Minalums
nensainandwuusoedluselasing Wisfiensanena1asa R adjusted-R® mean absolute
. H 3 3
percentage error I8 Theil’s inequality coefficient sauaaslumed 6.36 Madlernthumazde
a9 o 7 R s & y &£
yane lasina ennmanideyaseilibimswensed  Sufesnwsaamieudiunils
wieoudumszaruarrlunms 1duneldenadensuddgumi 1dnlanuntasy
A ) J ) H 3 5 T T
udidadilomafiedu ldmastiudiwaiidu  vashluneiludeslnnmadudseld
vantiseglusrli@ostu  wazdrunaid lalidldaliidaduddesdiadionduseld
=3 - - o 3 L] 1 ar
i Taesan wenwinmantsAny wowusmesiuszezdusy guviluszezeriuds dauals
A ar o ar Aq @ o d'l ] P -~
fldnnaumsendawelnaedudsh linanisweinsaldr esan ldsmdiufimievesay

MR lamnsdssanaaniues

M5197 6.36 ManAveaNn15n13Y5uRIsEaTIE uaZN139 simulation NehSeinRe Uiy

siwlasina
R’ Adjusted-R* MAPE U
Equation

Amnual | Quater | Annual | Quarter | Annual | Quarter | Annual | Quater

G 99013 | .89905 | .95261 | .77057 | .01550 | .03454 | .00445 | .02182

DTAX 99806 | .98616 | .98704 | .95158 | .02084 | .04865 | .00336 | .02652

PITAX 87782 | 99905 | .80451 | .99526 | .08738 | .00490 | .02764 | .00275

PI - 92856 - 52371 - .00788 - .00488

CITAX 96171 | 98618 | .93437 | 95854 | 23269 | .10484 | .03661 | .04068

PF 98912 | .81615 | .95829 | .55876 | .14235 | .04619 | .02790 | .03240
ITAX 99510 | .89977 | .96731 | 69932 | .00862 | .01485 | .00319 | .00937 .

IMTAX 97419 | 64884 | 92258 | .43814 | .04199 | .03236 | 01414 | 02271

VAT 92811 | .84171 | .86221 | .52514 | .07017 | .03884 | .01671 | .02443

SSTAX 99152 | 98547 | 94345 | .85474 | .01574 | 00581 | .00366 | .00351




SSTAXBTP
SSTAXFL
SSTAXOTHER
OITAX
OGREV
NBUD
GNDB
GNFB
cG
GREV
TAX
PTAX
EXTAX
BUD
CASH

GOFIN

89178
76520

.96869
87054
81210
98570
96580

99053
54567
69773
69297
88568
98121
92283
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93687
12920
58019
.65459
75930
97126
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fis  Mean Absolute Percentage Error

fiD  Theil’s inequality coefficient




